Fort Bend County, Texas Invitation for Bid



Term Contract for Purchase of Tires and Tubes for Fort Bend County BID 19-009

SUBMIT BIDS TO:

Fort Bend County Purchasing Department Travis Annex 301 Jackson, Suite 201 Richmond, TX 77469

Note: All correspondence must include the term "Purchasing Department" in address to assist in proper delivery.

SUBMIT NO LATER THAN:

Tuesday, August 7, 2018 2:00 PM (Central)

LABEL ENVELOPE:

BID 19-009 TIRES & TUBES

ALL BIDS MUST BE RECEIVED IN AND TIME/DATE STAMPED BY THE PURCHASING OFFICE OF FORT BEND COUNTY BEFORE THE SPECIFIED TIME/DATE STATED ABOVE.

BIDS RECEIVED AS REQUIRED WILL THEN BE OPENED AND PUBLICLY READ.

BIDS RECEIVED AFTER THE SPECIFIED TIME, WILL BE RETURNED UNOPENED.

Results will not be given by phone. Results will be provided to bidder in writing after the Commissioners Court awards. Requests for information must be in writing and directed to: Cheryl Krejci, CPPB Senior Buyer

cheryl.krejci@fortbendcountytx.gov

Vendor Responsibilities:

- Download and complete any addendums. (Addendums will be posted on the Fort Bend County website no Later than 48 hours prior to bid opening)
- Submit response in accordance with requirements stated on the cover of this document.
- DO NOT submit responses via email or fax.

Prepared: 6/28/18 Issued: 7/23/18 Alf

1.0 GENERAL REQUIREMENTS:



- ✓ 1.2 General Requirements apply to all advertised bids, however, these may be superseded, whole or in part, by the scope, special requirements, specifications, special specifications or other data contained herein.
- 1.3 Governing Law: Bidder is advised that these requirements shall be fully governed by the laws of the State of Texas and that Fort Bend County may request and rely on advice, decisions and opinions of the Attorney General of Texas and the County Attorney concerning any portion of these requirements.
- Purchasing Department one (1) complete bid document. An authorized representative of the bidder must sign the Contract Sheet. The Contract will be binding only when signed by the County Judge, Fort Bend County and a purchase order authorizing the item(s) desired has been issued. The use of corrective fluid is not acceptable and may result in the disqualification of bid. If an error is made, the bidder must draw a line through error and initial each change.
- 1.5 Bid Returns: Bidders must return completed bid document to the Fort Bend County Purchasing Department at 301 Jackson, Suite 201, Richmond, Texas no later than 2:00 P.M. on the date specified. <u>Late bids will not be accepted</u>. Bids must be submitted in a sealed envelope, addressed as follows: Fort Bend County Purchasing Agent, Travis Annex, 301 Jackson, Suite 201, Richmond, Texas 77469.
- Governing Document: In the event of any conflict between the terms and provisions of these requirements and the specifications, the specifications shall govern. In the event of any conflict of interpretation of any part of this overall document, Fort Bend County's interpretation shall govern.
- 1.7 Addenda: No interpretation of the meaning of the drawings, specifications or other bid documents will be made to any bidder orally. All requests for such interpretations must be made in writing addressed to Ms. Cheryl Krejci, Senior Jackson, Suite 201, Richmond, Texas 77469, e-mail: cheryl.krejci@fortbendcountytx.gov. Any and all interpretations and any supplemental instructions will be in the form of written addenda to the contract documents which will be posted on Fort Bend County's website. Addenda will ONLY be issued by the Fort Bend County Purchasing Agent. It is the sole responsibility of each bidder to insure receipt of any and all addenda. All addenda issued will become part of the contract documents. Bidders must sign and include addendum in the returned bid package. Deadline for submission of questions and/or clarification is Tuesday, July 31, 2018 at 10:00 a.m. (CST). Requests received

Initials of Bidder

after the deadline will not be responded to due to the time constraints of this bid process.

- 1.8 Hold Harmless Agreement: Contractor shall indemnify and hold Fort Bend County harmless from all claims for personal injury, death and/or property damage arising from any cause whatsoever, resulting directly or indirectly from contractor's performance. Contractor shall procure and maintain, with respect to the subject matter of this bid, appropriate insurance coverage including, as a minimum, public liability and property damage with adequate limits to cover contractor's liability as may arise directly or indirectly from work performed under terms of this bid. Certification of such coverage must be provided to the County upon request.
- ✓ 1.9 Waiver of Subrogation: Bidder and bidder's insurance carrier waive any and all rights whatsoever with regard to subrogation against Fort Bend County as an indirect party to any suit arising out of personal or property damages resulting from bidder's performance under this agreement.
- 1.10 Severability: If any section, subsection, paragraph, sentence, clause, phrase or word of these requirements or the specifications shall be held invalid, such holding shall not affect the remaining portions of these requirements and the specifications and it is hereby declared that such remaining portions would have been included in these requirements and the specifications as though the invalid portion had been omitted.
- 1.11 Bonds: If this bid requires submission of bid guarantee and performance bond, there will be a separate page explaining those requirements. Bids submitted without the required bid bond or cashier's checks are not acceptable. Bond/s or cashier's check must be complete with all required signatures.
- 1.12 Taxes: Fort Bend County is exempt from all federal excise, state and local taxes unless otherwise stated in this document. Fort Bend County claims exemption from all sales and/or use taxes under Chapter 20, Title 122a, Vernon's Texas Civil Statutes, as amended. Texas Limited Sales Tax Exemption Certificates will be furnished upon written request to the Fort Bend County Purchasing Department.
- 1.13 Fiscal Funding: A multi-year lease or lease/purchase arrangement (if requested by the specifications), or any contract continuing as a result of an extension option, must include fiscal funding out. If, for any reason, funds are not appropriated to continue the lease or contract, said lease or contract shall become null and void. After expiration of the lease, leased equipment shall be removed by the bidder from the using department without penalty of any kind or form to Fort Bend County. All charges and physical activity related to delivery, installation, removal and redelivery shall be the responsibility of the bidder.
- 1.14 Pricing: Prices for all goods and/or services shall be firm for the duration of this contract and shall be stated in the bid spreadsheet. Prices shall be all inclusive. No

Initials of Bidder:

- price changes, additions, or subsequent qualifications will be honored during the course of the contract. All prices must be written in ink or typewritten. Pricing on all transportation, freight, and other charges are to be prepaid by the contractor and included in the bid prices. If there are any additional charges of any kind, other than those mentioned above, specified or unspecified, bidder MUST indicate the items required and attendant costs or forfeit the right to payment for such items.
- 1.15 Silence of Specifications: The apparent silence of specifications as to any detail, or the apparent omission from it of a detailed description concerning any point, shall be regarded as meaning that only the best commercial practice is to prevail and that only material and workmanship of the finest quality are to be used. All interpretations of specifications shall be made on the basis of this statement. The items furnished under this contract shall be new, unused of the latest product in production to commercial trade and shall be of the highest quality as to materials used and workmanship. Manufacturer furnishing these items shall be experienced in design and construction of such items and shall be an established supplier of the item bid.
- 1.16 Supplemental Materials: Bidders are responsible for including all pertinent product data in the returned bid package. Literature, brochures, data sheets, specification information, completed forms requested as part of the bid package and any other facts which may affect the evaluation and subsequent contract award should be included. Materials such as legal documents and contractual agreements, which the bidder wishes to include as a condition of the bid, must also be in the returned bid package. Failure to include all necessary and proper supplemental materials may be cause to reject the entire bid.
- 1.17 Material Safety Data Sheets: Under the "Hazardous Communication Act", commonly known as the "Texas Right To Know Act", a bidder must provide to County and using departments, with each delivery, material safety data sheets, which are, applicable to hazardous substances defined in the Act. Bidders are obligated to maintain a current, updated file in the Fort Bend County Purchasing Department. Failure of the bidder to maintain such a file will be cause to reject any bid applying thereto.
- 1.18 Name Brands: Specifications may reference name brands and model numbers. It is not the intent of Fort Bend County to restrict these bids in such cases, but to establish a desired quality level of merchandise or to meet a pre-established standard due to like existing items. Bidders may offer items of equal stature and the burden of proof of such stature rests with them. Fort Bend County shall act as sole judge in determining equality and acceptability of products offered.
- 1.19 Color Selection: Determination of colors of materials is a right reserved by the using department unless otherwise specified in the bid. Unspecified colors shall be quoted as standard colors, not colors, which require up charges or special handling. Unspecified fabrics or vinyl should be construed as medium grade. If bidder fails to

Initials of Bidder: **Z**Ly

- get color/material approvals prior to delivery of merchandise, the using department may refuse to accept the items and demand correct shipment without penalty, subject to other legal remedies.
- 1.20 Evaluation: Evaluation shall be used as a determinant as to which bid items or services are the most efficient and/or most economical for the County. It shall be based on all factors, which have a bearing on price and performance of the items in the user environment. All bids are subject to tabulation by the Fort Bend County Purchasing Department and recommendation to Fort Bend County Commissioners Court. Compliance with all bid requirements, delivery and needs of the using department are considerations in evaluating bids. Pricing is NOT the only criteria for making a recommendation. The Fort Bend County Purchasing Department reserves the right to contact any bidder, at any time, to clarify, verify or request information with regard to any bid.
- 1.21 Inspections: Fort Bend County reserves the right to inspect any item(s) or service location for compliance with specifications and requirements and needs of the using department. If a bidder cannot furnish a sample of a bid item, where applicable, for review, or fails to satisfactorily show an ability to perform, the County can reject the bid as inadequate.
- 1.22 Testing: Fort Bend County reserves the right to test equipment, supplies, material and goods bid for quality, compliance with specifications and ability to meet the needs of the user. Demonstration units must be available for review. Should the goods or services fail to meet requirements and/or be unavailable for evaluation, the bid is subject to rejection.
- Disqualification of Bidder: Upon signing this bid document, a bidder offering to sell supplies, materials, services, or equipment to Fort Bend County certifies that the bidder has not violated the antitrust laws of this state codified in section 15.01, et seq., Business & Commerce Code, or the federal antitrust laws, and has not communicated directly or indirectly the bid made to any competitor or any other person engaged in such line of business. Any or all bids may be rejected if the County believes that collusion exists among the bidders. Bids in which the prices are obviously unbalanced may be rejected. If multiple bids are submitted by a bidder and after the bids are opened, one of the bids is withdrawn, the result will be that all of the bids submitted by that bidder will be withdrawn; however, nothing herein prohibits a vendor from submitting multiple bids for different products or services.
- 1.24 Awards: Fort Bend County reserves the right to award this contract on the basis of lowest and best bid in accordance with the laws of the State of Texas, to waive any formality or irregularity, to make awards to more than one bidder, to reject any or all bids. In the event the lowest dollar bidder meeting specifications is not awarded a contract, the bidder may appear before the Commissioners Court and present evidence concerning his responsibility. An award is final only upon formal execution

Initials of Bidder

by the Fort Bend County Commissioners Court or the Fort Bend County Purchasing Agent. Fort Bend County reserves the right to withdraw any award until execution by the proper authority.

- 1.25 Assignment: The successful vendor may not assign, sell or otherwise transfer this contract without written permission of Fort Bend County Commissioners Court.
- 1.26 Term Contracts: If the contract is intended to cover a specific time period, said time will be given in the specifications under scope.
 - Maintenance: Maintenance required for equipment bid should be available in Fort Bend County by a manufacturer authorized maintenance facility. Costs for this service shall be shown on the bid sheet as requested or on a separate sheet, as required. If Fort Bend County opts to include maintenance, it shall be so stated in the purchase order and said cost will be included. Service will commence only upon expiration of applicable warranties and should be priced accordingly.
 - 1.28 Contract Obligation: Fort Bend County Commissioners Court must award the contract and the County Judge or other person authorized by the Fort Bend County Commissioners Court must sign the contract before it becomes binding on Fort Bend County or the bidders. Department heads are not authorized to sign agreements for Fort Bend County. Binding agreements shall remain in effect until all products and/or services covered by this purchase have been satisfactorily delivered and accepted.
 - 1.29 Title Transfer: Title and Risk of Loss of goods shall not pass to Fort Bend County until Fort Bend County actually receives and takes possession of the goods at the point or points of delivery. Receiving times may vary with the using department. Generally, deliveries may be made between 8:30 a.m. and 4:00 p.m., Monday through Friday. Bidders are advised to consult the using department for instructions. The place of delivery shall be shown under the "Special Requirement" section of this bid document and/or on the Purchase Order as a "Ship To:" address.
- Purchase Order and Delivery: The successful bidder shall not deliver products or provide services without a Fort Bend County Purchase Order, signed by an authorized agent of the Fort Bend County Purchasing Department. The fastest, most reasonable delivery time shall be indicated by the bidder in the proper place on the bid sheet. Any special information concerning delivery should also be included, on a separate sheet, if necessary. All items shall be shipped F.O.B. inside delivery unless otherwise stated in the specifications. This shall be understood to include bringing merchandise to the appropriate room or place designated by the using department. Every tender or delivery of goods must fully comply with all provisions of these requirements and the specifications including time, delivery and quality. Nonconformance shall constitute a breach, which must be rectified prior to expiration of the time for performance. Failure to rectify within the performance period will be

Initials of Bidder

considered cause to reject future deliveries and cancellation of the contract by Fort Bend County without prejudice to other remedies provided by law. Where delivery times are critical, Fort Bend County reserves the right to award accordingly.

- 1.31 Contract Extension: Extensions may be made only by written agreement between Fort Bend County and the bidder. Any price escalations are limited to those stated by the bidder in the original bid.
- Termination: Fort Bend County reserves the right to terminate the contract for default if Seller breaches any of the terms therein, including warranties of bidder or if the bidder becomes insolvent or commits acts of bankruptcy. Such right of termination is in addition to and not in lieu of any other remedies, which Fort Bend County may have in law or equity. Default may be construed as, but not limited to, failure to deliver the proper goods and/or services within the proper amount of time, and/or to properly perform any and all services required to Fort Bend County's satisfaction and/or to meet all other obligations and requirements. Contracts may be terminated without cause upon thirty (30) days written notice to either party unless otherwise specified.
- 1.33 Recycled Materials: Fort Bend County encourages the use of products made of recycled materials and shall give preference in purchasing to products made of recycled materials if the products meet applicable specifications as to quantity and quality. Fort Bend County will be the sole judge in determining product preference application.
- 1.34 Interlocal Participation: Additional governmental entities may purchase from this bid. Vendor agrees to accept purchase orders from those participating entities and to invoice each entity separately.
 - County Purchasing Agent. The County Purchasing Agent will review, and, if increase is deemed warranted, place the request on Fort Bend County's Commissioners Court agenda for their action of approval or disapproval. Approval by the County's Commissioner's Court is required. Any proposed price increase will only be the amount increased to the vendor from his/her supplier. The price increase request must be stated on the vendor's letterhead with the bid number and name in the subject including, in columns, for each item: item description, original bid price, percent of increase, and the total cost of the original bid price including the increased dollar amount. Written documentation from the vendor's supplier of the increase notice must be provided to the Purchasing Agent at time of increase request. No application for a price increase may be submitted within the first six (6) months of this contract. Increase requests of more than 25% of the original bid price will not be considered.
 - 1.36 Modifications: This instrument contains the entire Contract between the parties

Initials of Bidder: 169

relating to the rights herein granted and obligations herein assumed. Any oral or written representations or modifications concerning this instrument shall be of no force and effect excepting a subsequent written modification signed by both parties hereto.

2.0 TERMS & CONDITIONS:

- Seller to Package Goods: Seller will package goods in accordance with good commercial practice. Each delivery container shall be clearly and permanently marked as follows (a) Seller's name and address; (b) Consignee's name, address and purchase order number and the bid number if applicable; (c) Container number and total number of containers (e.g. box 1 of 4 boxes); and (d) the number of the container bearing the packing slip. Seller shall bear cost of packaging unless otherwise provided. Goods shall be suitably packed to secure lowest transportation costs and to conform to requirements of common carriers and any applicable specifications. Fort Bend County's count or weight shall be final and conclusive on shipments not accompanied by packing list.
- 2.2 Shipment Under Reservation Prohibited: Seller is not authorized to ship goods under reservation and no tender of a bill of lading will operate as a tender of goods.
- 2.3 Title and Risk of Loss: The title and risk of loss of the goods shall not pass to the County until a County employee actually receives and takes possession of the goods at the point or points of delivery.
- Delivery Terms: F.O.B. Destination Freight Prepaid, Inside Delivery, unless delivery terms are specified otherwise on Purchase Order.
- 2.5 No Replacement of Defective Tender: Every tender or delivery of goods must fully comply with all provisions of the Purchase Order as to time of delivery, quality and the like. If a tender is made which does not fully conform, this shall constitute a breach and Seller shall not have the right to substitute a conforming tender.
- 2.6 Place of Delivery: The place of delivery shall be that set forth in the block of the purchase order entitled "Ship To". Any change thereto shall be effective by modification as provided for in Clause number 2.20 "Modifications", hereof. The terms of this agreement are "no arrival, no sale", at the discretion of Fort Bend County.
- 2.7 Invoices and Payments:
 - 2.7.1 Seller shall submit separate invoices, in duplicate. Invoices shall indicate the purchase order number and the bid number if applicable. Invoices shall be itemized and transportation charges, if any, shall be listed separately. A copy of the bill of lading, and the freight waybill when applicable should be

Initials of Bidder: \$45

attached to the invoice.

- 2.7.2 Fort Bend County's obligation is payable only and solely from funds available for the purpose of this purchase. Lack of funds shall render the order null and void to the extent funds are not available and any delivered but unpaid goods will be returned to Seller by the county.
- 2.7.3 Do not include Federal Excise, State, or City Sales Tax. Fort Bend County is a tax-exempt governmental entity.
- Gratuities: Fort Bend County may, by written notice to the Seller, cancel any order without liability, if it is determined by the County that gratuities, in the form of entertainment, gifts, or otherwise were offered or given by the Seller, or any agent or representative of the Seller to any officer or employee of Fort Bend County with a view toward securing an order. In the event an order is canceled by the County pursuant to this provision, the County shall be entitled, in addition to any other rights and remedies, to recover or withhold the amount of the cost incurred by Seller in providing such gratuities.
- Special Tools and Test Equipment: If the price stated on the face of an order includes the cost of any special tooling or special test equipment fabricated or required by Seller for the purpose of filing this order, such special tooling equipment and any process sheets related thereto shall become the property of the County and to the extent feasible shall be identified by the Seller as such.

2.10 Warranty/Price:

- 2.10.1 The price to be paid by the County shall be that contained in Seller's quote or bid which Seller warrants to be no higher than Seller's current prices on orders by others for products of the kind and specification covered by an order for similar quantities under similar or like conditions and methods of purchase. In the event Seller breaches this warranty the prices of the items shall be reduced to the Seller's current prices on orders by others. Fort Bend County may cancel this contract without liability.
- 2.10.2 The Seller warrants that no person or selling agency has been employed or retained to solicit or secure any County order based upon any agreement or understanding for commission, percentage, brokerage, or contingent fee excepting bona fide employees of bona fide established commercial or selling agencies maintained by the Seller for the purpose of securing business. A breach or violation of this warranty gives the County the right, in addition to any other right or rights, to cancel this contract without liability.
- 2.11 Warranty Product: Seller shall not limit or exclude any implied warranties and any attempt to do so shall render an order voidable at the option of the County. Seller

Initials of Bidder

warrants that the goods furnished will conform to the specifications, drawings, and description listed in the bid invitation and purchase order as applicable, and to the sample(s) furnished by Seller if any. In the event of a conflict between the specifications, drawings, and descriptions, the specifications shall govern.

- 2.12 Safety Warranty: Seller warrants that the product sold to Fort Bend County shall conform to the standards promulgated by the U.S. Department of Labor under the Occupational Safety and Health Act of 1970. In the event the product does not conform to OSHA standards, the County may return the product for correction or replacement at the Seller's expense. In the event Seller fails to make the appropriate correction within 10 days, correction made by the County will be at Seller's expense.
- No Warranty by Fort Bend County Against Infringements: As part of a contract for sale Seller agrees to ascertain whether goods manufactured in accordance with the specifications will give rise to the rightful claim of any third person by way of infringement. Fort Bend County makes no warranty that the production of goods according to the specification will not give rise to such a claim and in no event shall Fort Bend County be liable to Seller for indemnification in the event the Seller is sued on the grounds of infringement or the like. If Seller is of the opinion that an infringement will result, he will notify Fort Bend County to this effect in writing within two days after the receiving Purchase Order. If the County does not receive notice and is subsequently held liable for the infringement, Seller will defend and save the County harmless. If Seller in good faith ascertains that production of the goods in accordance with the specifications will result in infringement, this contract shall be null and void except that the County will pay Seller the reasonable cost of his search as to infringements.
- 2.14 Right of Inspection: The County shall have the right to inspect the goods at delivery before accepting them.
- 2.15 Cancellation: Fort Bend County shall have the right to cancel for default all or any part of the undelivered portion of an order if Seller breaches any of the terms hereof including warranties of Seller, or if the Seller becomes insolvent or files for protection under the bankruptcy laws. Such rights of cancellation are in addition to and not in lieu of any other remedies, which Fort Bend County may have in law or equity.
- 2.16 Termination: The performance of work under a Purchase Order may be terminated in whole or in part by the County in accordance with this provision. Termination of work there under shall be effected by the delivery to the Seller of a "Notice of Termination" specifying the extent to which performance of work under the order is terminated and the date upon which such termination becomes effective. Such right of termination is in addition to and not in lieu of rights of Fort Bend County set forth in Clause 15 herein.

Initials of Bidder: 46

72.17 Force Majeure: Force Majeure means a delay encountered by a party in the performance of its obligations under this Agreement, which is caused by an event beyond the reasonable control of that party. Without limiting the generality of the foregoing, "Force Majeure" shall include but not be restricted to the following types of events: acts of God or public enemy; acts of governmental or regulatory authorities; fires, floods, epidemics or serious accidents; unusually severe weather conditions; strikes, lockouts, or other labor disputes; and defaults by subcontractors.

In the event of a Force Majeure, the affected party shall not be deemed to have violated its obligations under this Agreement, and the time for performance of any obligations of that party shall be extended by a period of time necessary to overcome the effects of the Force Majeure, provided that the foregoing shall not prevent this Agreement from terminating in accordance with the termination provisions. If any event constituting a Force Majeure occurs, the affected party shall notify the other parties in writing, within twenty-four (24) hours, and disclose the estimated length of delay, and cause of the delay.

- 2.18 Assignment-Delegation: No right or interest in an order shall be assigned or delegation of any obligation made by Seller without the written permission of Fort Bend County. Any attempted assignment or delegation by Seller shall be wholly void and totally ineffective for all purposes unless made in conformity with this paragraph.
- 2.19 Waiver: No claim or right arising out of a breach of any contract can be discharged in whole or in part by a waiver or renunciation of the claim or right unless the waived or renunciation is supported by consideration and is in writing signed by the aggrieved party.
- 2.20 Modification: A Purchase Order can be modified or rescinded only by a writing signed by both of the parties or their duly authorized agents.
 - 2.21 Parol Evidence: This writing is intended by the parties as a final expression of their agreement and is intended also as a complete and exclusive statement of the terms of this agreement. No course of prior dealings between the parties and no usage of the trace shall be relevant to supplement or explain any terms rendered under this agreement and shall not be relevant to determine the meaning of this agreement even though the accepting or acquiescing party has knowledge of the performance and opportunity for objection. Whenever a term defined by the Uniform Commercial Code is used in this agreement, the definition contained in the Code is to control.
- Applicable Law: This agreement shall be governed by the Uniform Commercial Code. Whenever the term "Uniform Commercial Code" is used it shall be construed as meaning the Uniform Commercial Code as adopted in the State of Texas and in effective on the date of the purchase order.
 - 2.23 Advertising: Seller shall not advertise or publish, without the County's prior consent

Initials of Bidder:

the fact that Fort Bend County has entered into any contract, except to the extent necessary to comply with proper requests for information from an authorized representative of the federal, state, or local government.

- 2.24 Right to Assurance: Whenever the County in good faith has reason to question the other party's intent to perform. The County may demand that the other party give written assurance of his intent to perform. In the event that a demand is made and no assurance is given within five (5) days, the County may treat this failure as an anticipatory repudiation of the contract.
- 2.25 Venue: Both parties agree that venue for any litigation arising from this contract shall lie in Richmond, Fort Bend County, Texas.
- 2.26 Prohibition Against Personal Interest in Contracts: No officer or employee of the County shall have a financial interest, direct or indirect, in any contract with the County, or shall be financially interested, directly or indirectly, in the sale to the County of any land, materials, supplies, or service, except on behalf of the County as an officer or employee. Any willful violation of this section shall constitute malfeasance in office, and any officer or employee guilty thereof shall be subject to disciplinary action under applicable laws, statutes and codes of the State of Texas. Any violation of this section, with the knowledge, expressed or implied of the person or corporation contracting with the County shall render the contract involved voidable by the County Commissioners Court.

3.0 SCOPE:

It is the intent of Fort Bend County to contract with one (1) or more vendors to provide tires and tubes for Fort Bend County as specified herein.

4.0 TERM OF CONTRACT:

The term of this contract is 1 October 2018 through 30 September 2019, renewable annually for four (4) years (through 30 September 2024) under the same terms and conditions if mutually agreeable to both parties. Either party for any reason may terminate this contract by giving thirty (30) days written notice of the intent to terminate.

5.0 BID DOCUMENT COMPLETION:

Fill out, initial each page, SIGN CONTRACT SHEET, and return ONE (1) complete bid document, ONE (1) electronic Excel file on CD or Flash Drive of the Pricing Form completed by the bidder, and copy of completed Pricing Form to the Fort Bend County Purchasing Department. An authorized representative of the bidder MUST sign the contract sheet. The bid document, copy of completed pricing form, and electronic file, as provided on County's website, must be in the same sealed envelope marked with the appropriate bid number and title. The contract will be binding only when signed by the County Judge of Fort Bend County and a purchase order

Initials of Bidder

authorizing the item(s) desired has been issued. The use of correction fluid is **NOT** acceptable and may result in the disqualification of bid. If an error is made, vendor **MUST** draw a line through error and initial each change. All response, typed or written information, must be clear and legible.

6.0 MODIFICATIONS:

This instrument contains the entire Contract between the parties relating to the rights herein granted and obligations herein assumed. Any oral or written representations or modifications concerning this instrument shall be of no force and effect excepting a subsequent written modification signed by both parties hereto.

7.0 TEXAS ETHICS COMMISSION FORM 1295:

7.1 Effective January 1, 2016 all contracts executed by Commissioners Court, regardless of the dollar amount, will require completion of Form 1295 "Certificate of Interested Parties", per the new Government Code Statute §2252.908. All vendors submitting a response to a formal Bid, RFP, SOQ or any contracts, contract amendments, renewals or change orders are required to complete the Form 1295 online through the State of Texas Ethics Commission website. Please visit: https://www.ethics.state.tx.us/whatsnew/elf_info_form1295.htm.

7.2 On-line instructions:

- 7.2.1 Name of governmental entity is to read: <u>Fort Bend County</u>.
- 7.2.2 Identification number used by the governmental entity is: B19-009.
- 7.2.3 Description is the title of the solicitation: <u>Tires & Tubes</u>.
- 7.3 Apparent low bidder(s) will be required to provide the Form 1295 within three (3) calendar days from notification; however, if your company is publicly traded you are not required to complete this form.

8.0 STATE LAW REQUIREMENTS FOR CONTRACTS:

The contents of this section are required by Texas Law and are included by County regardless of content.

- 8.1 Agreement to Not Boycott Israel Chapter 2270 Texas Government Code: By signature on vendor form, Contractor verifies Contractor does not boycott Israel and will not boycott Israel during the term of this Contract.
- 8.2 Texas Government Code Section 2251.152 Acknowledgment: By signature on vendor form, Contractor represents pursuant to Section 2252.152 of the Texas Government Code, that Contractor is not listed on the website of the Comptroller of

Initials of Bidder

the State of Texas concerning the listing of companies that are identified under Section 806.051, Section 807.051 or Section 2253.153.

9.0 CONFLICT OF INTEREST:

- 9.1. Pursuant to Chapter 171 of the Texas Local Government Code, no County public official shall vote on or participate in this Agreement if said official has a direct or indirect substantial financial interest in a business entity or real property relating to this Agreement.
- Each party shall file a conflict of interest statement or questionnaire, if required, in accordance with Chapter 176 of the Texas Local Government Code, if (1) Contractor has an employment, business and/or familial relationship with the local government officer (or family member of the officer) that results in the local government officer receiving taxable income exceeding \$2,500, or (2) Contractor has given the local government officer (or to the family member of the officer) one or more gifts with the aggregate value of more than \$100 in the preceding 12 month period.

/10.0 AWARD:

This contract will be awarded to the lowest and best bid per section. Vendors must bid on each item in section for bid to be considered.

11.0 SPECIFICATIONS AND PRICING:

Specifications are included on the Excel Pricing Form downloadable from Fort Bend County's website. Vendors are to download the Excel Pricing Form from Fort Bend County's website, complete the pricing form in the Excel file, and include an electronic copy of the completed Excel pricing form on CD or Flash Drive in the same sealed envelope with their copy of bid response. The electronic copy must be capable of being saved by Fort Bend County Purchasing Department to access the vendor's pricing and transfer bid prices to Fort Bend County's tabulation file in Excel. Vendors are to include a copy of the completed pricing form with their bid response in the same sealed envelope as well.

12.0 DELIVERY:

- 12.1 Vendor must complete delivery within two (2) working days after receipt of purchase order unless otherwise stated. Vendor must notify Purchasing within 24 hours of receipt of purchase order if tires are not available.
- In those extremely rare cases where a Department needs a particular tire(s) immediately, Fort Bend County reserves the right to purchase that tire(s) on the open market without endangering this contract.
- 12.3 The successful bidder shall not deliver products or provide services as part of this

Initials of Bidder:

contract without a Purchase Order issued by the Fort Bend County Purchasing Agent.

12.4 Fort Bend County reserves the right to add or delete delivery locations as needed.

12.5 All deliveries must be made and completed between 8:00 AM and 3:00 PM, Monday through Friday.

- 12.6 No deliveries on County holidays.
- 12.7 Deliveries will be made to the following departments:

Road and Bridge
Road and Bridge
201 Payne Lane
12919 ½ Dairy Ashford
Crabb Texas 77469
Sugar Land Texas 77478

Road and Bridge
Road and Bridge
3743 School Street
Needville Texas 77461
Richmond Texas 77469

Drainage District Vehicle Maintenance
1022 Blume Road 230 Old Legion Drive
Rosenberg Texas 77471 Richmond Texas 77469

13.0 REQUIRED FORMS:

All bidders are required to complete the attached and return with their submission:

- 13.1 Vendor Form
- 13.2 W9 Form
- 13.3 Tax Form/Debt/Residence Certification
- 13.4 Contractor Acknowledgement of Stormwater Management Program
- 13.5 Pricing Form in Electronic Excel File on CD or Flash Drive and copy

Initials of Bidder

CONTRACT SHEET B19-009

THE STATE OF TEXAS COUNTY OF FORT BEND

This memorandum of agreement made and entered into on the 28 day of 2018 ,
by and between Fort Bend County in the State of Texas (hereinafter designated County), acting herein by
County Judge Robert Hebert, by virtue of an order of Fort Bend County Commissioners Court, and
HESSE/bein Tine Southwest (hereinaster designated Contractor).
(company name)
WITNESSETH:
The Contractor and the County agree that the bid and specifications for Purchase of Tires
and Tubes which are hereto attached and made a part hereof, together with this instrument and the
bond (when required) shall constitute the full agreement and contract between parties and for furnishing
the items set out and described; the County agrees to pay the prices stipulated in the accepted bid.
It is further agreed that this contract shall not become binding or effective until signed by the parties hereto and a purchase order authorizing the items desired has been issued.
Executed at Richmond, Texas this 28 day of august 20_18.
By: Fort Bend County, Texas County Judge Robert E. Hebert
By: Rick Lopez Account Manager
Printed Name and Title

PLS

Department of the Treasury

Request for Taxpayer Identification Number and Certification

Give Form to the requester. Do not send to the IRS.

Interna	I Revenue Service	1																	
	1 Name (as shown	on your income to	ax return). Name	is require	ed on this li	ine; do no	ot leave	this line	blank	•		_							
	H2552		1102	Jes		452	51												
c,	2 Business name/o	disregarded entity	name, if differer	t from ab	ove		•												
ě																			
ie ns on page	3. Check appropria	proprietor or r LLC	χ C Corpo	ration	S Corp	poration	P	artnersh	hip		Frust/e	state	cert	ain en ruction	ions (c tities, r as on p	ot ii age	ndivid: 3):	uals; s	
₽ Ei	imited liability	y company. Enter	the tax classifica	ation (C=C	corporatio	on, S=S c	corporati	ion, P≃p	partne	ship) 🟲			- 1		•				
Print or type See Specific Instructions		ngle-member LLC ication of the sing			ot check LL	.C; check	the app	propriat	e box	in the li	ne abo	ve for	1	inplioi le (if a	n from ny)	-A1	CATE	DOI GIT	y
جّ ڃَ	Other (see inst	tructions) >											(Арр	ies to ac	counts me	intair	ned outs	ide the L	J.S.)
± i≟	5 Address (numbe		or suite go.)										e and a						
bec	4823	Cornse	- Pank	420	2					F	7	B	کارے	ر کھ	دی_	ئہ) { 5	1	X
96	6 City, state, and	ZIP code		-10-	1-1	_													
Ň	San A	vtorios	-(X	15	>47	7				ļ									
	7 List account nun	nber(s) here (optio	nal)		/														
Pai		yer Identific																	
Enter	your TIN in the ap	propriate box. T	he TIN provid	ed must _.	match the	e name (given o	n line	1 to a	void	S	ocial s	ecurity	num	per				
backı	up withholding. For ent alien, sole prop	r individuals, thi	s is generally y	our soci	al security	y numbe	er (SSN	i). HOW	/ever, vr. otbo	tor a				_		_			
reside	ent alien, sole prop es, it is your emplo	onetor, or disreg over identification	arded entity, s n number (FIN	Hee me r	do not hav	ve a num	nber. s	ee Hov	v to a	et a	ł								
	n page 3.	yer identification	Trianibor (Em	, , .			, .		3		or			•					_
Note	. If the account is i	n more than one	name, see th	e instruc	tions for I	line 1 an	nd the c	chart or	n pag	e 4 for	E	mploy	er ider	tificat	ion nu	mbe	er]
	lines on whose nu		,									. 1		1.,		T		Ι.	٦
•											7	7	- 0	4	7-14	≠	5	୍ୟ9	
Par	t II Certifi	cation																	
Unde	r penalties of perju	ry, I certify that																	
1. Th	ne number shown	on this form is m	ny correct taxp	ayer ide	ntification	numbe	r (or I a	ım wait	ting fo	r a nui	nber	to be	issued	to m	ie); an	d			
Se	am not subject to be ervice (IRS) that I a b longer subject to	m subject to ba	ckup withhold	a) I am e ing as a	xempt fro result of a	om backı a failure t	up with to repo	nholdin ort all ir	g, or o	(b) I ha t or div	ve no ridenc	t bee Is, or	n notif (c) the	ed by IRS i	the In	nter Itific	nal R ed me	eveni that	ue I am
	am a U.S. citizen o	•																	
	e FATCA code(s) e					amme f	· /-/	ATOA -	oporti	ina is c	orrec	t.							
Certi		entered on this f	orm (if any) inc	licating t	nat i am e	exempu	irom r	HICAI	eborn								n wit	hholo	ling
	fication instruction	ns. You must c	ross out item :	2 above i	if you have	e been r	notified	by the	e IRS	that yo	u are	curre	ently s	ubject	to ba	CKU	ih wu		
beca	use vou have failed	ons. You must c	ross out item : erest and divi	2 above i dends or	if you haven your tax	re been r return. I	notified For rea	by the	e IRS e tran	that yo	u are ns, ite	m 2 c	toes n	ot apı	oly. Fo	r m	ortga	ge	
intere	use you have failed	ons. You must on the contract of the contract	ross out item : erest and divi- ent of secured	2 above i dends or property	if you have n your tax /. cancella	re been r return. I	notified For rea debt, c	l by the il estate ontribu	e IRS e tran utions	that yo sactior to an i	u are ns, ite ndivid	m 2 c dual r	loes n etirem	ot ap _l ent ar	oly. Fo range	r m mer	iortga nt (IR/	ge 4), an	ıd e
intere gene	use you have failed est paid, acquisitio rally, payments oth	ons. You must on the contract of the contract	ross out item : erest and divi- ent of secured	2 above i dends or property	if you have n your tax /. cancella	re been r return. I	notified For rea debt, c	l by the il estate ontribu	e IRS e tran utions	that yo sactior to an i	u are ns, ite ndivid	m 2 c dual r	loes n etirem	ot ap _l ent ar	oly. Fo range	r m mer	iortga nt (IR/	ge 4), an	id e
gene instru Sigr	use you have failed est paid, acquisition rally, payments oth actions on page 3. Signature of	ons. You must on the tore of t	ross out item : erest and divi- ent of secured	2 above i dends or property	if you have n your tax /. cancella	re been r return. I	notified For rea debt, c	l by the il estate ontribu	e IRS e tran utions ication	that yo saction to an i	u are ns, ite ndivid	m 2 c dual r	does netiremerovide	ot appent are your	oly. Fo range	r m mer	iortga nt (IR/	ige 4), an	id e
intere gene instru	use you have failed est paid, acquisitionally, payments off actions on page 3. Signature of	ons. You must on the tore of t	ross out item : erest and divi- ent of secured	2 above i dends or property	if you have n your tax /. cancella	re been r return. I ation of d uired to s	notified For rea debt, c	d by the	e IRS e tran utions icatio	that you saction to an in, but you	ou are ns, ite ndivid you m	m 2 c dual re nust p	does netiremerovide	ot appent ar your	oly. For	er m mer ct T	ortga nt (IR, IN. S	ge A), an ee the	9

Section references are to the Internal Revenue Code unless otherwise noted.

Future developments, Information about developments affecting Form W-9 (such as legislation enacted after we release it) is at www.irs.gov/fw9.

Purpose of Form

An individual or entity (Form W-9 requester) who is required to file an information return with the IRS must obtain your correct taxpayer identification number (TIN) which may be your social security number (SSN), individual taxpayer identification number (ITIN), adoption taxpayer identification number (ATIN), or employer identification number (EIN), to report on an information return the amount paid to you, or other amount reportable on an information return. Examples of information returns include, but are not limited to, the following:

- Form 1099-INT (interest earned or paid)
- Form 1099-DIV (dividends, including those from stocks or mutual funds)
- Form 1099-MISC (various types of income, prizes, awards, or gross proceeds)
- Form 1099-B (stock or mutual fund sales and certain other transactions by brokers)
- Form 1099-S (proceeds from real estate transactions)
- Form 1099-K (merchant card and third party network transactions)

- (tuition)
- Form 1099-C (canceled debt)
- Form 1099-A (acquisition or abandonment of secured property)

Use Form W-9 only if you are a U.S. person (including a resident alien), to provide your correct TIN.

If you do not return Form W-9 to the requester with a TIN, you might be subject to backup withholding. See What is backup withholding? on page 2.

By signing the filled-out form, you:

- 1. Certify that the TIN you are giving is correct (or you are waiting for a number to be issued),
 - Certify that you are not subject to backup withholding, or
- 3. Claim exemption from backup withholding if you are a U.S. exempt payee. If applicable, you are also certifying that as a U.S. person, your allocable share of any partnership income from a U.S. trade or business is not subject to the withholding tax on foreign partners' share of effectively connected income, and
- 4. Certify that FATCA code(s) entered on this form (if any) indicating that you are exempt from the FATCA reporting, is correct. See What is FATCA reporting? on page 2 for further information.

Form W-9 (Rev. 12-2014)

Note. If you are a U.S. person and a requester gives you a form other than Form W-9 to request your TIN, you must use the requester's form if it is substantially similar to this Form W-9.

Definition of a U.S. person. For federal tax purposes, you are considered a U.S. person if you are:

- · An individual who is a U.S. citizen or U.S. resident alien;
- A partnership, corporation, company, or association created or organized in the United States or under the laws of the United States;
- . An estate (other than a foreign estate); or
- A domestic trust (as defined in Regulations section 301.7701-7).

Special rules for partnerships. Partnerships that conduct a trade or business in the United States are generally required to pay a withholding tax under section 1446 on any foreign partners' share of effectively connected taxable income from such business. Further, in certain cases where a Form W-9 has not been received, the rules under section 1446 require a partnership to presume that a partner is a foreign person, and pay the section 1446 withholding tax. Therefore, if you are a U.S. person that is a partner in a partnership conducting a trade or business in the United States, provide Form W-9 to the partnership to establish your U.S. status and avoid section 1446 withholding on your share of partnership income.

In the cases below, the following person must give Form W-9 to the partnership for purposes of establishing its U.S. status and avoiding withholding on its allocable share of net income from the partnership conducting a trade or business in the United States:

- In the case of a disregarded entity with a U.S. owner, the U.S. owner of the disregarded entity and not the entity;
- In the case of a grantor trust with a U.S. grantor or other U.S. owner, generally, the U.S. grantor or other U.S. owner of the grantor trust and not the trust; and
- In the case of a U.S. trust (other than a grantor trust), the U.S. trust (other than a grantor trust) and not the beneficiaries of the trust.

Foreign person. If you are a foreign person or the U.S. branch of a foreign bank that has elected to be treated as a U.S. person, do not use Form W-9. Instead, use the appropriate Form W-8 or Form 8233 (see Publication 515, Withholding of Tax on Nonresident Aliens and Foreign Entities).

Nonresident alien who becomes a resident alien. Generally, only a nonresident alien individual may use the terms of a tax treaty to reduce or eliminate U.S. tax on certain types of income. However, most tax treaties contain a provision known as a "saving clause." Exceptions specified in the saving clause may permit an exemption from tax to continue for certain types of income even after the payee has otherwise become a U.S. resident alien for tax purposes.

If you are a U.S. resident alien who is relying on an exception contained in the saving clause of a tax treaty to claim an exemption from U.S. tax on certain types of income, you must attach a statement to Form W-9 that specifies the following

- 1. The treaty country. Generally, this must be the same treaty under which you claimed exemption from tax as a nonresident alien.
 - The treaty article addressing the income.
- The article number (or location) in the tax treaty that contains the saving clause and its exceptions.
- The type and amount of income that qualifies for the exemption from tax.
- 5. Sufficient facts to justify the exemption from tax under the terms of the treaty article.

Example. Article 20 of the U.S.-China income tax treaty allows an exemption from tax for scholarship income received by a Chinese student temporarily present in the United States. Under U.S. law, this student will become a resident alien for tax purposes if his or her stay in the United States exceeds 5 calendar years. However, paragraph 2 of the first Protocol to the U.S.-China treaty (dated April 30, 1984) allows the provisions of Article 20 to continue to apply even after the Chinese student becomes a resident alien of the United States. A Chinese student who qualifies for this exception (under paragraph 2 of the first protocol) and is relying on this exception to claim an exemption from tax on his or her scholarship or fellowship income would attach to Form W-9 a statement that includes the information described above to support that exemption.

If you are a nonresident alien or a foreign entity, give the requester the appropriate completed Form W-8 or Form 8233.

Backup Withholding

What is backup withholding? Persons making certain payments to you must under certain conditions withhold and pay to the IRS 28% of such payments. This is called "backup withholding." Payments that may be subject to backup withholding include interest, tax-exempt interest, dividends, broker and barter exchange transactions, rents, royalties, nonemployee pay, payments made in settlement of payment card and third party network transactions, and certain payments from fishing boat operators. Real estate transactions are not subject to backup withholding.

You will not be subject to backup withholding on payments you receive if you give the requester your correct TIN, make the proper certifications, and report all your taxable interest and dividends on your tax return.

Payments you receive will be subject to backup withholding if:

- 1. You do not furnish your TIN to the requester,
- You do not certify your TIN when required (see the Part II instructions on page 3 for details),

- 3. The IRS tells the requester that you furnished an incorrect TIN,
- 4. The IRS tells you that you are subject to backup withholding because you did not report all your interest and dividends on your tax return (for reportable interest and dividends only), or
- 5. You do not certify to the requester that you are not subject to backup withholding under 4 above (for reportable interest and dividend accounts opened after 1983 only).

Certain payees and payments are exempt from backup withholding. See Exempt payee code on page 3 and the separate Instructions for the Requester of Form W-9 for more information.

Also see Special rules for partnerships above.

What is FATCA reporting?

The Foreign Account Tax Compliance Act (FATCA) requires a participating foreign financial institution to report all United States account holders that are specified United States persons. Certain payees are exempt from FATCA reporting. See Exemption from FATCA reporting code on page 3 and the Instructions for the Requester of Form W-9 for more information.

Updating Your Information

You must provide updated information to any person to whom you claimed to be an exempt payee if you are no longer an exempt payee and anticipate receiving reportable payments in the future from this person. For example, you may need to provide updated information if you are a C corporation that elects to be an S corporation, or if you no longer are tax exempt. In addition, you must furnish a new Form W-9 if the name or TIN changes for the account; for example, if the grantor of a grantor trust dies.

Penalties

Failure to furnish TIN. If you fail to furnish your correct TIN to a requester, you are subject to a penalty of \$50 for each such failure unless your failure is due to reasonable cause and not to willful neglect.

Civil penalty for false information with respect to withholding. If you make a false statement with no reasonable basis that results in no backup withholding, you are subject to a \$500 penalty.

Criminal penalty for falsifying information. Willfully falsifying certifications or affirmations may subject you to criminal penalties including fines and/or imprisonment.

Misuse of TINs. If the requester discloses or uses TINs in violation of federal law, the requester may be subject to civil and criminal penalties.

Specific Instructions

Line 1

You must enter one of the following on this line; do not leave this line blank. The name should match the name on your tax return.

If this Form W-9 is for a joint account, list first, and then circle, the name of the person or entity whose number you entered in Part I of Form W-9.

a. Individual. Generally, enter the name shown on your tax return. If you have changed your last name without informing the Social Security Administration (SSA) of the name change, enter your first name, the last name as shown on your social security card, and your new last name.

Note. ITIN applicant: Enter your individual name as it was entered on your Form W-7 application, line 1a. This should also be the same as the name you entered on the Form 1040/1040A/1040EZ you filed with your application.

- b. **Sole proprietor or single-member LLC.** Enter your individual name as shown on your 1040/1040A/1040EZ on line 1. You may enter your business, trade, or "doing business as" (DBA) name on line 2.
- c. Partnership, LLC that is not a single-member LLC, C Corporation, or S Corporation. Enter the entity's name as shown on the entity's tax return on line 1 and any business, trade, or DBA name on line 2.
- d. Other entities. Enter your name as shown on required U.S. federal tax documents on line 1. This name should match the name shown on the charter or other legal document creating the entity. You may enter any business, trade, or DBA name on line 2.
- e. **Disregarded entity.** For U.S. federal tax purposes, an entity that is disregarded as an entity separate from its owner is treated as a "disregarded entity." See Regulations section 301.7701-2(c)(2)(iii). Enter the owner's name on line 1. The name of the entity entered on line 1 should never be a disregarded entity. The name on line 1 should be the name shown on the income tax return on which the income should be reported. For example, if a foreign LLC that is treated as a disregarded entity for U.S. federal tax purposes has a single owner that is a U.S. person, the U.S. owner's name is required to be provided on line 1. If the direct owner of the entity is also a disregarded entity, enter the first owner that is not disregarded for federal tax purposes. Enter the disregarded entity's name on line 2, "Business name/disregarded entity name." If the owner of the disregarded entity is a foreign person, the owner must complete an appropriate Form W-8 instead of a Form W-9. This is the case even if the foreign person has a U.S. TIN.

Aly

Line 2

If you have a business name, trade name, DBA name, or disregarded entity name, you may enter it on line 2.

Line 3

Check the appropriate box in line 3 for the U.S. federal tax classification of the person whose name is entered on line 1. Check only one box in line 3.

Limited Liability Company (LLC). If the name on line 1 is an LLC treated as a partnership for U.S. federal tax purposes, check the "Limited Liability Company" box and enter "P" in the space provided. If the LLC has filed Form 8832 or 2553 to be taxed as a corporation, check the "Limited Liability Company" box and in the space provided enter "C" for C corporation or "S" for S corporation. If it is a single-member LLC that is a disregarded entity, do not check the "Limited Liability Company" box; instead check the first box in line 3 "Individual/sole proprietor or single-member LLC."

Line 4, Exemptions

If you are exempt from backup withholding and/or FATCA reporting, enter in the appropriate space in line 4 any code(s) that may apply to you.

Exempt payee code.

- Generally, individuals (including sole proprietors) are not exempt from backup withholding.
- Except as provided below, corporations are exempt from backup withholding for certain payments, including interest and dividends.
- Corporations are not exempt from backup withholding for payments made in settlement of payment card or third party network transactions.
- Corporations are not exempt from backup withholding with respect to attorneys' fees or gross proceeds paid to attorneys, and corporations that provide medical or health care services are not exempt with respect to payments reportable on Form 1099-MISC.

The following codes identify payees that are exempt from backup withholding. Enter the appropriate code in the space in line 4.

- 1-An organization exempt from tax under section 501(a), any IRA, or a custodial account under section 403(b)(7) if the account satisfies the requirements of section 401(f)(2)
 - 2-The United States or any of its agencies or instrumentalities
- 3—A state, the District of Columbia, a U.S. commonwealth or possession, or any of their political subdivisions or instrumentalities
- 4—A foreign government or any of its political subdivisions, agencies, or instrumentalities
 - 5-A corporation
- $6-\!$ A dealer in securities or commodities required to register in the United States, the District of Columbia, or a U.S. commonwealth or possession
- $7\!-\!A$ futures commission merchant registered with the Commodity Futures Trading Commission
- 8-A real estate investment trust
- 9--An entity registered at all times during the tax year under the Investment Company Act of 1940
 - 10-A common trust fund operated by a bank under section 584(a)
 - 11-A financial institution
- 12—A middleman known in the investment community as a nominee or custodian
 - 13-A trust exempt from tax under section 664 or described in section 4947

The following chart shows types of payments that may be exempt from backup withholding. The chart applies to the exempt payees listed above, 1 through 13.

IF the payment is for	THEN the payment is exempt for					
Interest and dividend payments	All exempt payees except for 7					
Broker transactions	Exempt payees 1 through 4 and 6 through 11 and all C corporations. S corporations must not enter an exempt payee code because they are exempt only for sales of noncovered securities acquired prior to 2012.					
Barter exchange transactions and patronage dividends	Exempt payees 1 through 4					
Payments over \$600 required to be reported and direct sales over \$5,000 ¹	Generally, exempt payees 1 through 5 ²					
Payments made in settlement of payment card or third party network transactions	Exempt payees 1 through 4					

¹ See Form 1099-MISC, Miscellaneous Income, and its instructions.

² However, the following payments made to a corporation and reportable on Form 1099-MISC are not exempt from backup withholding: medical and health care payments, attorneys' fees, gross proceeds paid to an attorney reportable under section 6045(f), and payments for services paid by a federal executive agency.

Exemption from FATCA reporting code. The following codes identify payees that are exempt from reporting under FATCA. These codes apply to persons submitting this form for accounts maintained outside of the United States by certain foreign financial institutions. Therefore, if you are only submitting this form for an account you hold in the United States, you may leave this field blank. Consult with the person requesting this form if you are uncertain if the financial institution is subject to these requirements. A requester may indicate that a code is not required by providing you with a Form W-9 with "Not Applicable" (or any similar indication) written or printed on the line for a FATCA exemption code.

- A—An organization exempt from tax under section 501(a) or any individual retirement plan as defined in section 7701(a)(37)
 - B-The United States or any of its agencies or instrumentalities
- C-A state, the District of Columbia, a U.S. commonwealth or possession, or any of their political subdivisions or instrumentalities
- D-A corporation the stock of which is regularly traded on one or more established securities markets, as described in Regulations section 1.1472-1(c)(1)(i)
- E—A corporation that is a member of the same expanded affiliated group as a corporation described in Regulations section 1.1472-1(c)(1)(i)
- F—A dealer in securities, commodities, or derivative financial instruments (including notional principal contracts, futures, forwards, and options) that is registered as such under the laws of the United States or any state
 - G—A real estate investment trust
- H—A regulated investment company as defined in section 851 or an entity registered at all times during the tax year under the Investment Company Act of 1940
- I-A common trust fund as defined in section 584(a)
- J-A bank as defined in section 581
- K-A broker
- L-A trust exempt from tax under section 664 or described in section 4947(a)(1)
- M-A tax exempt trust under a section 403(b) plan or section 457(g) plan

Note. You may wish to consult with the financial institution requesting this form to determine whether the FATCA code and/or exempt payee code should be completed.

Line 5

Enter your address (number, street, and apartment or suite number). This is where the requester of this Form W-9 will mail your information returns.

Line 6

Enter your city, state, and ZIP code.

Part I. Taxpaver Identification Number (TIN)

Enter your TIN in the appropriate box. If you are a resident alien and you do not have and are not eligible to get an SSN, your TIN is your IRS individual taxpayer identification number (ITIN). Enter it in the social security number box. If you do not have an ITIN, see *How to get a TIN* below.

If you are a sole proprietor and you have an EIN, you may enter either your SSN or EIN. However, the IRS prefers that you use your SSN.

If you are a single-member LLC that is disregarded as an entity separate from its owner (see *Limited Liability Company (LLC)* on this page), enter the owner's SSN (or EIN, if the owner has one). Do not enter the disregarded entity's EIN. If the LLC is classified as a corporation or partnership, enter the entity's EIN.

Note. See the chart on page 4 for further clarification of name and TIN combinations.

How to get a TIN. If you do not have a TIN, apply for one immediately. To apply for an SSN, get Form SS-5, Application for a Social Security Card, from your local SSA office or get this form online at www.ssa.gov. You may also get this form by calling 1-800-772-1213. Use Form W-7, Application for IRS Individual Taxpayer Identification Number, to apply for an ITIN, or Form SS-4, Application for Employer Identification Number, to apply for an EIN. You can apply for an EIN online by accessing the IRS website at www.irs.gov/businesses and clicking on Employer Identification Number (EIN) under Starting a Business. You can get Forms W-7 and SS-4 from the IRS by visiting IRS.gov or by calling 1-800-TAX-FORM (1-800-829-3676).

If you are asked to complete Form W-9 but do not have a TIN, apply for a TIN and write "Applied For" in the space for the TIN, sign and date the form, and give it to the requester. For interest and dividend payments, and certain payments made with respect to readily tradable instruments, generally you will have 60 days to get a TIN and give it to the requester before you are subject to backup withholding on payments. The 60-day rule does not apply to other types of payments. You will be subject to backup withholding on all such payments until you provide your TIN to the requester.

Note. Entering "Applied For" means that you have already applied for a TIN or that you intend to apply for one soon.

Caution: A disregarded U.S. entity that has a foreign owner must use the appropriate Form W-8.

Part II. Certification

To establish to the withholding agent that you are a U.S. person, or resident alien, sign Form W-9. You may be requested to sign by the withholding agent even if items 1, 4, or 5 below indicate otherwise.

For a joint account, only the person whose TIN is shown in Part I should sign (when required). In the case of a disregarded entity, the person identified on line 1 must sign. Exempt payees, see Exempt payee code earlier.

Signature requirements. Complete the certification as indicated in items 1 through 5 below.

- Interest, dividend, and barter exchange accounts opened before 1984 and broker accounts considered active during 1983. You must give your correct TIN, but you do not have to sign the certification.
- 2. Interest, dividend, broker, and barter exchange accounts opened after 1983 and broker accounts considered inactive during 1983. You must sign the certification or backup withholding will apply. If you are subject to backup withholding and you are merely providing your correct TIN to the requester, you must cross out item 2 in the certification before signing the form.
- Real estate transactions. You must sign the certification. You may cross out item 2 of the certification.
- 4. Other payments. You must give your correct TIN, but you do not have to sign the certification unless you have been notified that you have previously given an incorrect TIN. "Other payments" include payments made in the course of the requester's trade or business for rents, royalties, goods (other than bills for merchandise), medical and health care services (including payments to corporations), payments to a nonemployee for services, payments made in settlement of payment card and third party network transactions, payments to certain fishing boat crew members and fishermen, and gross proceeds paid to attorneys (including payments to corporations).
- 5. Mortgage interest paid by you, acquisition or abandonment of secured property, cancellation of debt, qualified tuition program payments (under section 529), IRA, Coverdell ESA, Archer MSA or HSA contributions or distributions, and pension distributions. You must give your correct TIN, but you do not have to sign the certification.

What Name and Number To Give the Requester

What Hallie and Halliber 10	· · · · · · · · · · · · · · · · · · ·
For this type of account:	Give name and SSN of:
Individual Two or more individuals (joint account)	The individual The actual owner of the account or, if combined funds, the first individual on the account'
Custodian account of a minor (Uniform Gift to Minors Act)	The minor ²
a. The usual revocable savings trust (grantor is also trustee) b. So-called trust account that is not a legal or valid trust under state law	The grantor-trustee' The actual owner'
Sole proprietorship or disregarded entity owned by an individual	The owner ³
6. Grantor trust filing under Optional Form 1099 Filing Method 1 (see Regulations section 1.671-4(b)(2)(i) (A))	The grantor*
For this type of account:	Give name and EIN of:
Disregarded entity not owned by an individual	The owner
8. A valid trust, estate, or pension trust	Legal entity ⁴
Corporation or LLC electing corporate status on Form 8832 or Form 2553	The corporation
 Association, club, religious, charitable, educational, or other tax- exempt organization 	The organization
11. Partnership or multi-member LLC	The partnership
12. A broker or registered nominee	The broker or nominee
13. Account with the Department of Agriculture in the name of a public entity (such as a state or local government, school district, or prison) that receives agricultural program payments	The public entity
14. Grantor trust filing under the Form 1041 Filing Method or the Optional Form 1099 Filing Method 2 (see Regulations section 1.671-4(b)(2)(i) (R))	The trust

¹ List first and circle the name of the person whose number you furnish. If only one person on a joint account has an SSN, that person's number must be furnished.

- ³ You must show your individual name and you may also enter your business or DBA name on the "Business name/disregarded entity" name line. You may use either your SSN or EIN (if you have one), but the IRS encourages you to use your SSN.
- List first and circle the name of the trust, estate, or pension trust. (Do not furnish the TIN of the personal representative or trustee unless the legal entity itself is not designated in the account title.) Also see Special rules for partnerships on page 2.
- *Note. Grantor also must provide a Form W-9 to trustee of trust.

Note. If no name is circled when more than one name is listed, the number will be considered to be that of the first name listed.

Secure Your Tax Records from Identity Theft

Identity theft occurs when someone uses your personal information such as your name, SSN, or other identifying information, without your permission, to commit fraud or other crimes. An identity thief may use your SSN to get a job or may file a tax return using your SSN to receive a refund.

To reduce your risk:

- · Protect your SSN,
- . Ensure your employer is protecting your SSN, and
- · Be careful when choosing a tax preparer.

If your tax records are affected by identity theft and you receive a notice from the IRS, respond right away to the name and phone number printed on the IRS notice or letter

If your tax records are not currently affected by identity theft but you think you are at risk due to a lost or stolen purse or wallet, questionable credit card activity or credit report, contact the IRS Identity Theft Hotline at 1-800-908-4490 or submit Form 14039.

For more information, see Publication 4535, Identity Theft Prevention and Victim Assistance.

Victims of identity theft who are experiencing economic harm or a system problem, or are seeking help in resolving tax problems that have not been resolved through normal channels, may be eligible for Taxpayer Advocate Service (TAS) assistance. You can reach TAS by calling the TAS toll-free case intake line at 1-877-777-4778 or TTY/TDD 1-800-829-4059.

Protect yourself from suspicious emails or phishing schemes. Phishing is the creation and use of email and websites designed to mimic legitimate business emails and websites. The most common act is sending an email to a user falsely claiming to be an established legitimate enterprise in an attempt to scam the user into surrendering private information that will be used for identity theft.

The IRS does not initiate contacts with taxpayers via emails. Also, the IRS does not request personal detailed information through email or ask taxpayers for the PIN numbers, passwords, or similar secret access information for their credit card, bank, or other financial accounts.

If you receive an unsolicited email claiming to be from the IRS, forward this message to phishing@irs.gov. You may also report misuse of the IRS name, logo, or other IRS property to the Treasury Inspector General for Tax Administration (TIGTA) at 1-800-366-4484. You can forward suspicious emails to the Federal Trade Commission at: spam@uce.gov or contact them at www.ftc.gov/idtheft or 1-877-IDTHEFT (1-877-438-4338).

Visit IRS.gov to learn more about identity theft and how to reduce your risk.

Privacy Act Notice

Section 6109 of the Internal Revenue Code requires you to provide your correct TIN to persons (including federal agencies) who are required to file information returns with the IRS to report interest, dividends, or certain other income paid to you; mortgage interest you paid; the acquisition or abandonment of secured property; the cancellation of debt; or contributions you made to an IRA, Arche MSA, or HSA. The person collecting this form uses the information on the form to file information returns with the IRS, reporting the above information. Routine uses of this information include giving it to the Department of Justice for civil and criminal litigation and to cities, states, the District of Columbia, and U.S. commonwealths and possessions for use in administering their laws. The information also may be disclosed to other countries under a treaty, to federal and state agencies to enforce civil and criminal laws, or to federal law enforcement and intelligence agencies to combat terrorism. You must provide your TIN whether or not you are required to file a tax return. Under section 3406, payers must generally withhold a percentage of taxable interest, dividend, and certain other payments to a payee who does not give a TIN to the payer. Certain penalties may also apply for providing false or fraudulent information.

264

² Circle the minor's name and furnish the minor's SSN.

Job No.: RFQ 19-009

TAX FORM/DEBT/ RESIDENCE CERTIFICATION (for Advertised Projects)

Taxpayer	Identification Number (T.I.N.): <u>742 47 45 79</u>
Company	Name submitting Bid/Proposal: Hs952 losins Tive Southwest
Mailing A	Address: 11717 Wind form #200 Houston TX 77064
	registered to do business in the State of Texas? No
If you are	e an individual, list the names and addresses of any partnership of which you are a general partner or any name(s) under which you operate your business
n	Property: List all taxable property in Fort Bend County owned by you or above partnerships as well as any d/b/a names. Include real and personal property as well as mineral interest accounts. (Use a second sheet of paper if necessary.)
Fort Bene	d County Tax Acct. No.* Property address or location**
** For raddre. may b	the property account identification number assigned by the Fort Bend County Appraisal District. real property, specify the property address or legal description. For business personal property, specify the ss where the property is located. For example, office equipment will normally be at your office, but inventory se stored at a warehouse or other location. Fort Bend County Debt - Do you owe any debts to Fort Bend County (taxes on properties listed in I above, ickets, fines, tolls, court judgments, etc.)? Yes No If yes, attach a separate page explaining the debt.
r	Residence Certification - Pursuant to Texas Government Code §2252.001 et seq., as amended, Fort Bend County requests Residence Certification. §2252.001 et seq. of the Government Code provides some restrictions on the awarding of governmental contracts; pertinent provisions of §2252.001 are stated below:
(3) "Nonresident bidder" refers to a person who is not a resident.
(4) "Resident bidder" refers to a person whose principal place of business is in this state, including a contractor whose ultimate parent company or majority owner has its principal place of business in this state.
	I certify that HE232 Leis Tive S. 45. is a Resident Bidder of Texas as defined in Government Code [Company Name] §2252.001.
	I certify that is a Nonresident Bidder as defined in Government Code [Company Name] §2252.001 and our principal place of business is
Created 05/1	[City and State]



COUNTY PURCHASING AGENT Fort Bend County, Texas

Vendor Information

Debbie Kaminski, CPPB County Purchasing Agent Office (281) 341-8640

Legal Company Name (top line of W9)	HESSElbein Tire S.	osth wist
Business Name (if different from legal name)		
Federal ID # or S.S. #	640349 356	
Type of Business	\(\frac{40349}{256}\) \(\frac{7}{2}\) Corporation/LLC \(\frac{100}{200}\) Partn \(\frac{100}{200}\) Tax E	ership xempt Organization
Publicly Traded Business	X No Yes Ticker Symbol	
Remittance Address	4823 Corner Parkers	
City/State/Zip	5m Antonio, TX 7821	5
Physical Address	11717 Windfers Ro	
City/State/Zip	Houston, TX 77069 Phone: 210-253-7031 Fax: 2	
Phone/Fax Number	Phone: 210-253-7031 Fax: 2	10-655-6132
Contact Person	Rick Lopez	
E-mail	rick Le Oktive.	Com
Check all that apply to the company listed above and provide certification number.	DBE-Disadvantaged Business Enterprise SBE-Small Business Enterprise HUB -Texas Historically Underutilized Business WBE-Women's Business Enterprise	Certification #
	<\$500,000	\$500,000-\$4,999,999
Company's gross annual receipts	\$5,000,000-\$16,999,999	\$17,000,000-\$22,399,999
annual receipts	>\$22,400,000	
NAICs codes (Please enter all that apply)	423130	
Signature of		
Authorized Representative	W. Gar	
Printed Name	Rick LOPEZ	•
Title	Rick Lopez Accord Massager	
Date	8/4/18	

THIS FORM MUST BE SUBMITTED WITH THE SOLICITATION RESPONSE.

P69



Contractor Acknowledgement of Stormwater Management Program

I hereby acknowledge that I am aware of the stormwater management program and standard operating procedures developed by Fort Bend County in compliance with the TPDES General Permit No. TXR040000. I agree to comply with all applicable best management practices and standard operating procedures while conducting my services for Fort Bend County. I agree to conduct all services in a manner that does not introduce illicit discharges of pollutants to streets, stormwater inlets, drainage ditches or any portion of the drainage system. The following materials and/or pollutant sources must not be discharged to the drainage system as a result of any services provided:

- 1. Grass clippings, leaves, mulch, rocks, sand, dirt or other waste materials resulting from landscaping activities, (except those materials resulting from ditch mowing or maintenance activities)
- 2. Herbicides, pesticides and/or fertilizers, (except those intended for aquatic use)
- 3. Detergents, fuels, solvents, oils and/or lubricants, other equipment and/or vehicle fluids,
- 4. Other hazardous materials including paints, thinners, chemicals or related waste materials,
- 5. Uncontrolled dewatering discharges, equipment and/or vehicle wash waters,
- 6. Sanitary waste, trash, debris, or other waste products
- 7. Wastewater from wet saw machinery,
- 8. Other pollutants that degrade water quality or pose a threat to human health or the environment.

Furthermore, I agree to notify Fort Bend County immediately of any issue caused by or identified by:

Hess & Iberia Tirz Southwest

(Company/Contractor)

that is believed to be an immediate threat to human health or the environment.

Rick Lope 2

Printed Name

Account Manager

Sly

LEGAL NOTICE INVITATION TO BIDDERS

Sealed Bids will be received in the Office of Debbie Kaminski, County Purchasing Agent, Fort Bend County, Travis Annex, 301 Jackson, Suite 201, Richmond, TX 77469 for the following until **TUESDAY**, **AUGUST 7**, **2018 at 2:00 P.M.** (CST). All bids will then be publicly opened and read in the Office of the Purchasing Agent, Travis Annex, 301 Jackson, Suite 201, Richmond, TX 77469. Bids received after the specified time will be returned unopened. All addendums will be posted on Purchasing Agent's website located at www.fortbendcountytx.gov.

- 1. BID 19-004 LAUNDRY & DISHWASHING CHEMICALS;
- 2. BID 19-005 CHEVROLET DEALER PARTS;
- 3. BID 19-006 WINDOW WASHING;
- 4. BID 19-007 HYDRO-INSENSITIVE POLYURETHANE FOAM;
- 5. **BID 19-009 TIRES & TUBES**;
- 6. BID 19-010 WEED, BRUSH & INSECT CHEMICALS;
- 7. BID 19-011 TRAFFIC SIGNS, POSTS & SUPPLIES;
- 8. BID 19-012 CONTINGENCY AERIAL SPRAYING FOR MOSQUITO CONTROL

Unit pricing required; payment will be by check. Fort Bend County reserves the right to reject any or all bids.

Signed: Debbie Kaminski, CPPB, Purchasing Agent Fort Bend County, Richmond, Texas 281-341-8640

46

Fort Bend County Bid 19-009 O & A #1

Question 1: For tires listed in Sections 2, 7, 17, 22, and 27 of the Bid Price Sheet, if a tire listed is discontinued, may the replacement tire be substituted (typed in) on the Bid Price Sheet?

Answer: Replacements of the specified tires can be provided on the PDF of the vendor's pricing form.

Question 2: For tires listed in the "Generic" Sections, does the County want the manufacturer name and type or only the price(s)?

Answer: The manufacturer name and number and/or type can be provided on the PDF of the vendor's pricing form.

Question 3: (re: 1.8 Hold Harmless Agreement): Will the County accept a certificate of insurance from a vendor which has self-insurance for general and automobile liability coverages including self-insured retentions?

Answer: This solicitation does not require proof of insurance.

Question 4: (re: 1.8 Hold Harmless Agreement): To clarify the Contractor's indemnity obligations, will the County consider modifying this requirement to explicitly restrict this obligation to the Contractor's performance of this proposal? The change requested would read: Hold Harmless Agreement: Contractor shall indemnify and hold Fort Bend County harmless from all claims for personal injury, death and/or property damage arising from any cause whatsoever, resulting directly or indirectly from contractor's performance to the extent arising from Contractor's negligent acts or omissions or its willful misconduct in its performance of this Agreement. . . Will the County accept this revision?

Answer: Alterations to the terms and conditions are not permitted.

Question 5: (re: 1.9 Waiver of Subrogation): The County states "Bidder and bidder's insurance carrier waive any and all rights whatsoever with regard to subrogation against Fort Bend County as an indirect party to any suit arising out of personal or property damages resulting from bidder's performance under this agreement." This requirement in effect requires that the Contractor be required to indemnify the County for the County's negligence or willful misconduct. Vendor as Contractor accepts and agrees that it is only responsible for the acts of negligence or willful misconduct of its employees and those persons or organizations under its direct supervision and control. Will the County waive this requirement, as this bid requires delivery only to a County facility?

fly

Answer: This solicitation does not require proof of insurance. Alterations to the terms and conditions are not permitted.

Question 6:

(re: 1.15 Silence of the Specifications): Vendor requests the following changes to clarify this provision as it relates to the manufacturer's standard limited warranty offered on the goods proposed, and the changes proposed will be more specific to the goods offered: Silence of Specifications: The apparent silence of specifications as to any detail, or the apparent omission from it of a detailed description concerning any point, shall be regarded as meaning that only the best commercial practice no less than reasonable commercial practice is to prevail and that only quality material and workmanship of the finest quality are to be used. All interpretations of specifications shall be made on the basis of this statement. The items furnished under this contract shall be new, unused of the latest product in production to commercial trade and shall be of the highest quality as to materials used and workmanship and receive the full benefit of the Contractor's applicable standard warranty. Manufacturer furnishing these items shall be experienced in design and construction of such items and shall be an established supplier of the item bid. Will the County accept this revision?

Answer: Alterations to the terms and conditions are not permitted.

Question 7: (re: 2.5 No Replacement of Defective Tender): Will the County accept the following additional language of this requirement to clarify the intent of this provision and not jeopardize the commercial operation of this agreement? No Replacement of Defective Tender: Every tender or delivery of goods must fully comply with all material provisions of the Purchase Order as to time of delivery, quality and the like. If a tender is made which does not fully conform, this shall constitute a breach and Seller shall not have the right to substitute a conforming tender.

Answer: Alterations to the terms and conditions are not permitted.

Ouestion 8:

(re: 2.10.1 Warranty Price): Vendor as Contractor will state that it will make a competitive bid to the County for the goods proposed, that its proposal is not a sham bid, and will be made without engaging in collusion, bid rigging, or any other illegal activity, and any consultation, communication with any other Bidder or competitor relating to (i) those prices, (ii) the intention to submit an offer, or (iii) the methods or factors used to calculate the prices offered was done in the ordinary course and without any intent to reduce competition. The bid offered will not be linked, tied or otherwise dependent upon actions taken by or for other governmental bids regardless of similarity, except as The Vendor Tire & Rubber Company and the State of Texas may transact. Will the County based upon the above statement accept deletition of the following phrase? The price to be paid by the County shall be that contained in Seller's quote or bid which Seller warrants to be no higher than Seller's current prices on orders by others for products of the kind and specification covered by an order for similar quantities under similar or like conditions and methods of purchase. In the event Seller breaches this warranty the prices of the items shall be reduced to the Seller's current prices on orders by others. Fort Bend County may cancel this contract without liability.

JUS

Answer: Alterations to the terms and conditions are not permitted.

Question 9: (re: 2.11 Warranty Product): Vendor as Contractor is offering its applicable standard warranties for the goods proposed. Will the County accept the manufacturer's applicable standard warranty(s) in lieu of the phrase "...the specifications, drawings, and description listed in the bid invitation and purchase order as applicable..."?

Answer: Alterations to the terms and conditions are not permitted.

Question 10: (re: 2.12 Safety Warranty) Vendor as Contractor requests that the language of this provision be understood to mean the applicable standards promulgated by the U.S. Department of Labor under the Occupational Safety and Health Act of 1970. In the event the product does not conform to the applicable OSHA standards, the County may return the product for correction or replacement at under the provisions of the manufacturer's applicable standard warranty(s). Will the County accept this understanding?

Answer: Alterations to the terms and conditions are not permitted.

JU

Fort Bend County Pricing Form B19-009

Tires and Tubes

Term: 1 October 2018 through 30 September 2019

Piele

Vendor Name: Hesselbein Tire Southwest

		16	
Section 1: Tubes (Must be First Quality)	Estimated Quantity	Price per Each	Total
7.50R16 Tube with TR15 stem	5	\$ 9.25	\$ 46.2500
7.50R16 Tube with TR150 stem	5	\$ 12.00	\$ 60.0000
9.00R20 Tubes with TR443 stem	5	\$ 22.75	\$ 113.7500
10.00R20 Tubes with TR444 stem	5	\$ 17.75	\$ 88.7500
18.4-30 Tubes with TR218A stem	22	\$ 44.75	\$ 984.5000
12.4-24 Tubes with TR218A stem	12	\$ 19.50	\$ 234.0000
KR 14/15 Tubes with TR13 stem	25	\$ 8.75	\$ 218.7500
13.6X24 Tubes cupples TR218A	11	\$ 30.25	\$ 332.7500
11.00X16 Tubes with TR15CW stem	8	\$ 19.35	\$ 154.8000
12X16.5 Tubes with TR15CW stem	4	\$ 16.25	\$ 65.0000
16.9/18.4X34 Tubes cupples TR218A	5	\$ 49.75	\$ 248.7500
480/400X8 Tubes cupples TR87	6	\$ 11.54	\$ 69.2400
600/690X9 Brass stem tubes cupples TR440	6	\$ 7.75	\$ 46.5000
7.00X12 Brass stem tubes cupples TR440	4	\$ 9.25	\$ 37.0000
23 x 1050-12 tubes with stem for lawnmower tire	2	\$ 12.25	\$ 24.5000
18 x 750-8 tubes with stem for lawnmower tire	2	\$ 8.00	\$ 16.0000
16 x 750-8 tubes with stem for lawnmower tire	2	\$ 6.75	\$ 13.5000
12.00 R20 tube	10	\$ 26.75	\$ 267.5000
7.50 - 15 TR440 valve tube	10	\$ 9.50	\$ 95.0000
	TOTAL FOR	SECTION 1:	\$ 3,116.5400

General/Passenger/Light Truck

Section 2: Goodyear Brand Only	Estimated Quantity	Price per Each	Total
P235/55R17 Eagle RS-A Pursuit v-rated	300		\$ <u>_</u>
P265/60R17 Eagle RS-A Pursuit v-rated	600		\$ -
P235/50R18 Eagle RS-A Pursuit v-rated	300		\$ 1 / y 1 <u>-</u>
P225/60R18 Eagle RS-A Pursuit v-rated	600		\$ -
	TOTAL FOR S	ECTION 2:	\$ _

Vendor Name: Dist Redepoper

General/Passenger/Light Truck (cont'd)

Section 3: Uniroyal Brand Only	Estimated Quantity	Price per Each	Total
LT235/85R16 HD/H 10 ply	20		\$ -
LT235/85R16 HD 10 ply	20		\$ _
LT245/75R16 HD/H 10 ply	50		\$
LT245/75R16 HD 10 ply	50		\$
LT265/75R16 HD/D10 ply	50		\$ -
P255/70R16 Laredo Cross Country	50		\$ -
	TOTAL FOR S	ECTION 3:	\$ -

Section 4: Michelin Brand Only	Estimated Quantity	Price per Each		Total
LT235/85R16 XPS Rib 10 ply	20		\$	-
LT235/85R16 XPS Traction 10 ply	10		\$	_
LT245/75R16 LTX A/T2 10 ply	50		\$	-
LT245/75R16 Defender LTX M/S	20		\$	-
LT265/75R16 Defender LTX M/S	20		\$	_
LT245/75R17 Defender LTX M/S	10		\$	_
LT245/75R17 LTX A/T, 10 ply	4		\$	_
LT275/65R18 LTX A/T2, 10 ply	10		\$	_
LT275/65R18 Defender LTX M/S, 10 ply	10		\$	-
LT225/75R16 LTX M/S2, 10 ply	40		\$	-
LT265/65R18 Defender LTX M/S, 10 ply	20		\$	-
P255/70R16 Defender LTX M/S	50		\$	-
P245/75R16 LTX A/T2 OWL	10		\$	-
P265/60R18 Defender LTX M/S	20		\$	-
P265/70R17 Defender LTX M/S	20		\$	-
	TOTAL FOR S	ECTION 4	!: \$	-

Section 5: B F Goodrich Brand Only	Estimated Quantity	Price per Each		Total
LT245/75R17 Rugged Trail T/A 10 ply	30		\$	
LT245/75R16 Commercial T/A 10 ply	10		\$	-
LT245/75R17 Commercial T/A 10 ply	10		\$	
LT275/65R18 All Terrain T/A KO2	40		\$	
LT265/70R17 Commercial T/A 10 ply	20		\$	-
P235/75R16 Long Trail T/A Tour	10		\$	_
P245/75R16 Long Trail T/A tour	10	181	\$	
P235/75R17 Long Trail	150		\$	-
	TOTAL FOR S	ECTION 5	: \$	-

719

Vendor Name: Ply Rick Coper

General/Passenger/Light Truck (cont'd)

General/Passenger/Light Truck (cont'd)			
Section 6: Bridgestone/Firestone Brand Only	Estimated	Price	Total
	Quantity	per Each	
LT235/75R15 Transforce HT 6 ply	20	\$120.67	\$ 2,413.4000
LT235/75R15 Plansionee TT 6 ply	20	\$131.56	\$ 2,631.2000
LT225/75R16 Transforce HT 10 ply	16	\$114.00	\$ 1,824.0000
LT225/75R16 Destination MT 10 ply	16	\$141.71	\$ 2,267.3600
LT245/75R16 Transforce HT 10 ply	100	\$112.50	\$ 11,250.0000
LT245/75R16 Destination MT2 10 ply	30	\$144.34	\$ 4,330.2000
LT245/75R17 Transforce HT 10 ply	150	\$123.96	\$ 18,594.0000
LT235/85R16 Transforce HT 10 ply	100	\$117.39	\$ 11,739.0000
LT235/85R16 Destination M/T2 10 ply	30	\$140.11	\$ 4,203.3000
LT215/85R16 Transforce HT 10 ply	16	\$105.67	\$ 1,690.7200
	20	\$119.22	\$ 2,384.4000
LT215/85R16 Destination MT 10 ply	100	\$121.58	\$ 12,158.0000
LT235/80/17 Transforce HT 10 ply	40	\$123.05	\$ 4,922.0000
LT245/70R17 Transforce HT 10 ply	20	\$137.56	\$ 2,751.2000
LT265/70R17 Transforce HT 10 ply			\$ 5,295.6000
LT265/75R16 Transforce AT2	40	\$132.39	\$ 3,087.0000
LT275/70R18 Transforce AT2 10 ply	20	\$154.35	\$
LT275/70R18 Transforce HT	20	\$148.65	 2,973.0000
LT265/70R17 Transforce AT2 10 ply	50	\$140.80	\$ 7,040.0000
LT265/70R17 Destination M/T2 10 ply	100	\$160.52	\$ 16,052.0000
LT235/85R16 Transforce AT2 10 ply	20	\$122.75	\$ 2,455.0000
LT235/75R16 Destination LE2 XL OWL	10	\$103.82	\$ 1,038.2000
9.50R16.5 Transforce HT 10 ply	32	\$118.65	\$ 3,796.8000
P255/70R16 A/T Destination AT	20	\$117.64	\$ 2,352.8000
P205/60R16 Firestone Champion Fuel fighter	100	\$71.31	\$ 7,131.0000
P255/65R17 Destination LE 2	200	\$107.87	\$ 21,574.0000
P265/75R16 Destination AT	40	\$125.72	\$ 5,028.8000
P215/60R16 Champion Fuel Fighter	40	\$73.95	\$ 2,958.0000
P235/70R16 Destination LE 2	60	\$105.49	\$ 6,329.4000
P255/65R16 Destination LE 2	40	\$99.91	\$ 3,996.4000
P265/70R16 Destination LE 2	40	\$112.55	\$ 4,502.0000
P205/75R15 Winterforce	40	\$59.45	\$ 2,378.0000
P235/55R17 Champion Fuel Fighter	40	\$97.16	\$ 3,886.4000
P245/65R17 Destination LE 2	60	\$96.27	\$ 5,776.2000
P265/60R17 Fire Hawk V-Rated Pursuit	400	\$122.40	\$ 48,960.0000
P245/60R18 Destination LE2	50	\$99.03	\$ 4,951.5000
P255/70R17 Destination LE2	50	\$116.59	\$ 5,829.5000
P235/75R17 Dueler A/T REVO 2	50	\$111.33	\$ 5,566.5000
	TOTAL FOR	SECTION 6:	\$ 256,116.8800

HESDEBEID TITE SQ

Vendor Name: Pick Copez

General/Passenger/Light Truck Tires (cont'd)

General/Passenger/Light Truck Tires (cont'd) Section 7: Goodyear Brand Only	Estimated	Price	Т	otal
	Annual Quantity	per Each		
LT235/75R15 Wrangler MT/R 6 ply	10		\$	-
LT235/85R16 Wrangler HT 10 ply	20		\$	-
LT235/85R16 Wrangler MT/R 10 ply	20		\$	-
LT235/85R16 LR G G614 RST 14 ply	16		\$	-
LT245/75R16 Wrangler HT load range E	8		\$	-
LT245/75R16 Wrangler MT/R 10 ply	20		\$	-
LT245/75R16 Wrangler AT/S 10 ply	300		\$	-
LT245/75R16 Wrangler RT/S 10 ply	20		\$	-
LT265/75R16 Wrangler RT/S 10 ply	10		\$	-
LT265/75R16 Wrangler MT/R 8 ply	60		\$	-
LT245/70R17 Wrangler MT/R 10 ply	90		\$	-
LT265/70R17 Wrangler AT/S 6 ply	40		\$	-
LT265/70R17 Wrangler MT/R 10 ply	10		\$	100
LT275/65R18 Wrangler AT/S VSB 10 ply	10		\$, -
LT275/65R18 Wrangler AT/S OWL 10 ply	12		\$	-
P205/60R16 Eagle GT	10		\$	-
P215/65R16 Eagle LS	10		\$	-
P235/75R17 Wrangler SRA	10		\$	_
P235/75R15 Wrangler RT/S XL	10		\$	-
P235/75R16 Wrangler ST BW	100		\$	-
P245/65R17 Highway Tire	10		\$	-
P245/75R16 Wrangler RT/S	20		\$	-
P255/70r16 Wrangler RT/S	30		\$	-
P255/65R16 Eagle LS	10		\$	-
P265/70R17 Wrangler RT/S	10		\$	-
P265/70R17 Wrangler AT/S	8		\$	-
P275/65R18 Wrangler SR-A OWL SL	30		\$	-
	TOTAL FOR S	ECTION 7	7: \$	-

Section 8: Continental Brand Only	Estimated Quantity	Price per Each	Total
LT245/75R17 10 ply Conti Trac	10	\$125.96	\$ 1,259.6000
P235/75R16 10 ply Conti Cross Continental LX SL	10	\$94.60	\$ 946.0000
P245/75R16 10 ply Conti Cross Continental LX	10	\$92.05	\$ 920.5000
LT275/65R18 10 ply Conti Trac	40	\$146.96	\$ 5,878.4000
LT275/65R18 All Terrain General Grabber AT2	40	\$183.05	\$ 7,322.0000
	TOTAL FOR	SECTION 8:	\$ 16,326.5000

Alexy

Vendor Name: Slyn Pile Lopes

General/Passenger/Light Truck Tires (cont'd)

Section 9: Toyo Brand Only	Estimated	Price	Total
	Quantity	per	
		Each	
LT245/75R16 Open Country MT 10 ply	20	\$255.26	\$ 5,105.2000
LT235/85R16 Open Country MT 10 ply	12	\$244.49	\$ 2,933.8800
LT265/70R17 Open Country MT 10 ply	20	\$226.75	\$ 4,535.0000
	TOTAL FOR	SECTION 9:	\$ 12,574.0800

Section 10: Generic	Estimated Quantity	Price per Each	Total
LT235/75R15 Transforce HT 6 ply	20	\$84.00	\$ 1,680.0000
LT215/85R16 Destination MT 10 ply	20	\$119.22	\$ 2,384.4000
LT225/75R16 Transforce HT 10 ply	10	\$89.00	\$ 890.0000
LT225/75R16 Destination MT 10 ply	16	\$104.00	\$ 1,664.0000
LT245/75R17 Transforce HT 10 ply	16	\$129.00	\$ 2,064.0000
LT235/85R16 Transforce HT 10 ply	20	\$109.00	\$ 2,180.0000
LT215/85R16 Transforce HT 10 ply	20	\$95.00	\$ 1,900.0000
LT235/85R16 Destination M/T2 10 ply	10	\$127.00	\$ 1,270.0000
LT235/85R16 Transforce AT2 10 ply	20	\$109.00	\$ 2,180.0000
P255/70R16 Destination AT 10 ply	16	\$97.00	\$ 1,552.0000
9.50R16.5 Transforce HT 10 ply	10	\$118.65	\$ 1,186.5000
LT265/70R17 Destination M/T2 10 ply	80	\$135.00	\$ 10,800.0000
LT265/70R17 Transforce HT 10 ply	20	\$125.00	\$ 2,500.0000
	TOTAL FOR SI	ECTION 10:	\$ 32,250.9000

Al &

Vendor Name: Rysn Rich Lopez

Heavy Truck

Section 11: B F Goodrich Brand Only	Estimated Quantity	Price per Each	Total
225/70R19.5 ST230 14 Ply	4		\$ _
	TOTAL FOR SE	CCTION 11:	\$ -

Section 12: Bridgeston/Firestone Brand Only	Estimated Quantity	Price per Each	Total
225/70R19.5 M724F 12 ply	8		\$ -
225/70R19.5 M729F 12 ply	8		\$ -
	\$ -		

Section 13: Continental Brand Only	Estimated Quantity	Price per Each	Total
225/70R19.5 HD3 Terra Plus 14ply	16		\$ -
,	TOTAL FOR SE	ECTION 13:	\$ -

Section 14: Michelin Brand Only	Estimated Quantity	Price per Each	Total	
225/70R19.5 XZE 14 ply	4		\$	-
11R22.5 XZE 14 ply XZE2	100		\$	-
11R22.5 MI XZY 16 ply XZY3	12		\$	-
11R22.5 MI XZE 2 16 ply	6		\$	-
11R22.5 XMD LRG 16 ply	32		\$	-
12R22.5 XZE	24		\$	-
255/70R22.5 XZE	12		\$	-
385/65R22.5 x 24 18 ply XZY 3	6		\$	-
315/80 R22.5 XZA	6		\$	-
225/70 R19.5 10 ply XZE	6		\$	-
11R22.5 XZY3	12		\$	-
12R22.5 XZY3	12		\$	-
11R22.5 XDY3	12		\$	-
11R22.5 X WORK XDY	12		\$	-
11R24.5 XDY3	12		\$	-
11R24.5 X WORK XDY	12		\$	-
425/65R22.5 XZY3	6		S	-
	TOTAL FOR SE	CTION 14	: \$	-

Vendor Name: Flor Fiele Lopez

Heavy Truck (cont'd)

Section 15: B F Goodrich Brand Only	Estimated Quantity	Price per Each	Total
11R22.5 Cross Control D 16 ply	10		\$ -
11R24.5 Cross Control D 16 ply	10		\$ -
11R22.5 ST230	10		\$ -
11R24.5 ST230	10		\$ -
11R22.5 TR144	10		\$ -
	TOTAL FOR SE	ECTION 15:	\$ -

Section 16: Bridgestone/Firestone Brand Only	Estimated Quantity	Price per Each	Tota	al
10R22.5 FS561 Plus 12 ply	4		\$	-
10R22.5 FD663 14 ply	4		\$	-
11R22.5 FS 560 Plus 16 ply	12	×	\$	-
11R22.5 T831 16 ply	12		\$	-
11R22.5 T819 16 ply	12		\$	-
12R22.5 T831 16 ply	10		\$	-
11R24.5 T831 16 ply	12		\$	-
11R24.5 FS 560 Plus 16 ply	12		\$	-
12R22.5 FS561 Plus 16 ply	12		\$	-
315/80R22.5 FS400 20 ply	12		\$	-
	TOTAL FOR SE	ECTION 16:	\$	-

Section 17: Goodyear Brand Only Tires that have been superseded on the Goodyear Government Availability List with a newer version of the product are acceptable.	Estimated Quantity	Price per Each	Total
11R22.5 G287 MSA 16 ply	8		\$ -
11R22.5 G288 MSA 16 ply	100		\$ -
11R22.5 G177 16 ply	12		\$ -
11R22.5 G395 LHS 14 ply	12		\$ -
11R22.5 G314 12 ply	12		\$ -
12R22.5 G149 MSA 16 ply	6		\$ -
315/80R22.5 G291 18 ply	6		\$ -
385/65R22.5 G178SS 18 ply	4		\$ -
TO	TAL FOR S	ECTION 17:	\$ -

Vendor Name: Plyg File Lopez

Heavy Truck (cont'd)

Section 18: Toyo Brand Only	Estimated	Price	Total
	Quantity	per	
		Each	
11R22.5 M506Z 16 ply	10	\$333.80	\$ 3,338.0000
11R24.5 M506Z 16 ply	10	\$520.16	\$ 5,201.6000
11R22.5 M157 14 ply	10	\$325.07	\$ 3,250.7000
11R22.5 M147 16 ply	10	\$413.26	\$ 4,132.6000
11R24.5 M147 16 ply	40	\$439.34	\$ 17,573.6000
12R22.5 M170 16 ply	40	\$432.24	\$ 17,289.6000
	TOTAL FOR S	ECTION 18:	\$ 50,786.1000

Section 19: Generic	Estimated	Price	Total
	Quantity	per Each	
10R22.5 FS561 12 ply	4	\$276.05	\$ 1,104.2000
10R22.5 FD663 12 ply	4	\$284.36	\$ 1,137.4400
11R22.5 FS561 16 ply	25	\$294.56	\$ 7,364.0000
11R22.5 T831 16 ply	12	\$323.96	\$ 3,887.5200
11R22.5 T819 16 ply	8	\$322.02	\$ 2,576.1600
12R22.5 T831 16 ply	10	\$353.94	\$ 3,539.4000
11R24.5 T831 16 ply	25	\$348.70	\$ 8,717.5000
11R24.5 16 ply FS561	8	\$320.07	\$ 2,560.5600
12R22.5 FS561	8	\$344.65	\$ 2,757.2000
	TOTAL FOR S	ECTION 19:	\$ 33,643.9800

Vendor Name: Pleza Rick Lopez

Agricultural

Section 20: Michelin Brand Only	Estimated Quantity	Price per Each		Fotal
12.4-24 R-1W Radial Agribib 8 ply	5		\$	-
13.6R24 R-1W Radial Agribib 8 ply	5		\$	-
14.9R24 R-1W Radial Agribib 8 ply	5		\$	-
18.4R30 R-1W Radial Agribib 8 ply	4		\$	-
16.9R34 R-1W Radial Agribib 8 ply	5		\$	-
18.4R38 R-1W Radial Agribib 8 ply	5		\$	-
380/85R24 Power Radial 80	5		\$	-
18.4R34 R-1W Radial 8 ply	5		\$	-
23.1-26 10 ply tubeless	10		\$	-
28L-26 10 ply tubeless	10		\$	-
	TOTAL FOR SE	CTION 20): \$	-

Section 21: Bridgestone/Firestone Brand Only	Estimated Quantity	Price per Each	Total
7.50-16 Champ Guide Grip 3 Rib F-2 8 ply	4	\$127.84	\$ 511.3600
10.00-16 Champ Guide Grip 3 Rib F-2 8 ply	8	\$154.12	\$ 1,232.9600
11.00-16 Champ Guide Grip 3 Rib F-2 8 ply	5	\$195.62	\$ 978.1000
11L-15 Champ Guide Grip 3 Rib F-2 8 ply	8	\$154.38	\$ 1,235.0400
12.4-24 Super All Traction II 23° 8 ply	12	\$484.02	\$ 5,808.2400
340/85R24 Performer 85 R-1 W 8 ply	5	\$511.08	\$ 2,555.4000
380/85R24 Performer 85 R-1 W 8 ply	5	\$780.93	\$ 3,904.6500
13.6-24 Super All Traction II 23deg R-1 8 ply	4	\$311.60	\$ 1,246.4000
18.4-30 Champ Spade Grip - R-2 10 ply	4	\$1,463.92	\$ 5,855.6800
16.9-34 Traction Field & Road - R-1 8 ply	5	\$350.26	\$ 1,751.3000
18.4-34 Traction Field & Road - R-1 8 ply	5	\$612.89	\$ 3,064.4500
18.4R38 Radial All Traction 23° 8 ply	5	\$1,054.64	\$ 5,273.2000
18.4-30 Super All Traction II 23° R-1 8 ply	4	\$565.98	\$ 2,263.9200
12.4R24 Radial All Traction DT R-1W	20	\$484.02	\$ 9,680.4000
13.6R24 Radial All Traction DT R-1W	4	\$511.08	\$ 2,044.3200
14.9R24 Radial All Traction DT R-1W	8	\$603.35	\$ 4,826.8000
18.4R30 Radio All Traction DT R-1W	20	\$1,245.94	\$ 24,918.8000
	TOTAL FOR S	ECTION 21:	\$ 77,151.0200

Vendor Name: Hesselbzin Tire SU

Agricultural (cont'd)

Section 22: Goodyear Brand Only	Estimated	Price	Total
	Quantity	per	
		Each	
7.50-16 Triple Rib HD TT 6 ply	4	\$121.25	\$ 485.0000
11L-15 Triple Rib HD TT 8 ply	12	\$181.84	\$ 2,182.0800
10.00-16 Triple Rib HD TT 8 ply	4	\$175.94	\$ 703.7600
11.00-16 Triple Rib HD 8 ply TT	4	\$213.25	\$ 853.0000
12.4-24 R1 Dura Torque TL 8 ply	16	\$346.11	\$ 5,537.7600
13.6-24 R1 Dyna Torque II TT 8 ply	5	\$340.20	\$ 1,701.0000
14.9 R24 R-1W Super Traction Radial	5	\$650.02	\$ 3,250.1000
18.4-30 R1 Dura Torque TT 8 ply	24	\$618.75	\$ 14,850.0000
18.4-30 R-2 Special Sure Grip TD8 10 ply TL	6	\$1,318.16	\$ 7,908.9600
18.4-34 R1 Dura Torque TT 8 ply	8	\$680.00	\$ 5,440.0000
18.4R38 R-1 Dyna Torque TL	8	\$1,142.50	\$ 9,140.0000
23.1-26 10 ply tubeless	10	\$1,160.80	\$ 11,608.0000
	TOTAL FOR S	ECTION 22:	\$ 63,659.6600

Vendor Name:

Section 23: Generic	Estimated Quantity	Price per Each	Total
7.50-16 Champ Guide Grip 3 Rib F-2 8 ply	4	\$79.00	\$ 316.0000
10.00-16 Champ Guide Grip 3 Rib F-2 8 ply	4	\$130.00	\$ 520.0000
11.00-16 Champ Guide Grip 3 Rib F-2 8 ply	5	\$178.00	\$ 890.0000
11L-15 Champ Guide Grip 3 Rib F-2 8 ply	4	\$93.50	\$ 374.0000
12.4-24 Super All Traction 23° 8 ply	12	\$192.25	\$ 2,307.0000
18.4-30 Traction F & R 8 ply	12	\$437.75	\$ 5,253.0000
340/85R24 Radial 6000 R-1W 8 ply	5	\$371.75	\$ 1,858.7500
380/85R24 Radial 6000 R-1W 8 ply	5	\$516.78	\$ 2,583.9000
18.4-30 Champ Spade Grip 6 ply	4	\$437.75	\$ 1,751.0000
18.4-30 Champ Spade Grip 10 ply	4	\$427.75	\$ 1,711.0000
16.9-34 Traction Field & Road 8 ply	5	\$419.75	\$ 2,098.7500
18.4-34 Traction Field & Road 8 ply	5	\$427.50	\$ 2,137.5000
18.4R38 Radial All Traction 23° 8 ply	5	\$509.75	\$ 2,548.7500
ST205/75R15C Tow Master Trailer	80	\$41.84	\$ 3,347.2000
	TOTAL FOR S	ECTION 23:	\$ 27,696.8500

Vendor Name: My Price Lopez

Heavy Equipment/Specialty

Section 24: Michelin Brand Only	Estimated Quantity	Price per Each	1	Total
29.5R25 MI XHA 2 star	6		\$	-
1400R24 XGL A2	10		\$	-
17.5R25 XTLA	10		\$	-
20.5R25 XTLA	10		\$	-
1300R24 XGLA A2	10		\$	-
29.5R25 MI XHA 1 Star	10		\$	-
750R15 MI XLC	10		\$	-
23.5R25 XHA 2 STXL	10		\$	-
1800-25 16 ply tubeless	10		\$	-
12x16.5 Super Traction	10		\$	-
12x16.5 Tweel	8		\$	-
23.1-26 10 ply	4		\$	-
23.1-26 12 ply	4		\$	-
28L-R26 10 ply	4		\$	-
28L-R26 12 ply	4		\$	-
	TOTAL FOR SE	CTION 24	l: \$	-

Section 25: Bridgestone/Firestone Brand Only	Estimated Quantity	Price per Each	Total
12X16.5 Super traction	8		\$ -
15.5X25 SGGLO	5		\$ -
17.5X25 GGG E2/L-2	5		\$ -
	TOTAL FOR SE	ECTION 25:	\$ -

Section 26: Bridgestone/Firestone Brand Only	Estimated Quantity	Price per Each	Total
14.00X24 G-2	10		\$ -
14.00R24 VUT	10		\$ -
20.5X25 SGG E-2/L-2	5		\$ -
23.5X25 SGG E-2/L-2	5		\$ -
	TOTAL FOR S	ECTION 26:	\$ -

Section 27: Titan Brand Only	Estimated Quantity	Price per Each	Total
11L-15SL Tru Trac Triple Rib TT F-2 8 ply	12	\$195.50	\$ 2,346.0000
10.00-16SL Tru Trac Triple Rib F-2 TL 8 ply	4	\$164.25	\$ 657.0000
11.00-16SL Tru Trac Triple Rib F-2 TL 8 ply	4	\$212.36	\$ 849.4400
12.4-24 Hi Trac Lug R-1 TL 8 ply	12	\$259.75	\$ 3,117.0000
18.4-30 Hi Trac Lug R-1 TL 6 ply	12	\$562.69	\$ 6,752.2800

13.6R24-128A8 Hi Trac Lug Radial R-1	5	\$389.50	\$ 1,947.5000
14.9R24-120A8 Hi Trac Lug Radial R-1	5	\$786.25	\$ 3,931.2500
	TOTAL FOR S	SECTION 27:	\$ 19,600.4700

Vendor Name: Pur Sy Pick Lopez

Trailer/Miscellaneous

Trailer/Miscellaneous	Estimated	Price		Total
Section 28: Generic	Quantity			Total
	Quantity	per Each		
7.50X15 Industrial 12 ply	4	\$111.00	\$	444.0000
6.00X9 industrial 10 ply	4	\$47.25	\$	189.0000
8.25X15 Industrial 12 ply	4	\$139.25	S	557.0000
7.00X12 Industrial 10 ply	4	\$79.50	\$	318.0000
4.80X8 Wheel barrow 2 ply	4	\$6.50	\$	26.0000
410/350-4	4	\$6.50	\$	26.0000
8-14.5 Towmaster Super Hwy	5	\$52.75	\$	263.7500
12X16.5 Super traction	8	\$109.25	\$	874.0000
14/70-20 20 ply roller tire	7	\$1,190.41	\$	8,332.8700
15.5X25 SGGLO	5	\$339.75	\$	1,698.7500
17.5X25 GGG E2/L-2	5	\$409.00	\$	2,045.0000
14.00X24 G-2	12	\$295.00	\$	3,540.0000
14.00R24 Bridgestone VUT	8	\$822.50	\$	6,580.0000
20.5X25 SGG E-2/L-2	5	\$619.75	\$	3,098.7500
23.5X25 SGG E-2/L-2	5	\$1,343.40	\$	6,717.0000
29.5R25 E-3 22 ply	6	\$1,650.00	\$	9,900.0000
13 x 500-8 NHS Turf	2	\$9.00	\$	18.0000
23 x 1050-12 NHS Turf	2	\$37.50	\$	75.0000
18 x 750-8 Turf	2	\$19.00	\$	38.0000
7.50R16 LRG Trailer tire	8	\$89.00	\$	712.0000
ST235/85R16 LRG Trailer	8	\$77.50	\$	620.0000
11.4.00-5	2	\$6.50	\$	13.0000
20x8.00-10	2	\$48.25	\$	96.5000
ST205/75R15 LR C	8	\$39.75	\$	318.0000
ST225/75R15 LR D	8	\$46.50	\$	372.0000
ST225/90D16 LR E, 105 psi Trailer	8	\$89.00	\$	712.0000
20X10.0-10	8	\$28.00	\$	224.0000
18X8.50-8	8	\$21.25	\$	170.0000
7.00-15LT Trailer	8	\$61.00	\$	488.0000
ST175/80R13	10	\$29.50	\$	295.0000
LT 9.50 - 16.5 LOAD RANGE "E"	10	\$74.75	\$	747.5000
ST175/80R13	10	\$29.50	\$	295.0000
ST 235/80R16 Trailer	10	\$55.50	\$	555.0000
	TOTAL FOR S	ECTION 28:	\$	50,359.1200

Vendor Name:

Numatic Roller

Section 29: Galaxy Brand Only	Estimated Quantity	Price per Each	Total
14/70 –20 20 ply NHS for roller	7	\$1,340.80	\$ 9,385.6000
14/70 –20 20 ply NHS for roller, blem	7	\$1,340.88	\$ 9,386.1600

CERTIFICATE OF INTERESTED PARTIES

FORM **1295**

					1 of 1
	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.			OFFICE USE ONLY CERTIFICATION OF FILING	
_					
1	Name of business entity filing form, and the city, state and country of the business entity's place of business. Hesselbein Tire Southwest San Antonio, TX United States			Certificate Number: 2018-388604	
			1	Date Filed:	
2	Name of governmental entity or state agency that is a party to the contract for which the form is being filed.			08/06/2018	
	Fort Bend County		Dat	Date Acknowledged:	
				08/28/2018	
3	Provide the identification number used by the governmental entity or state agency to track or identify the contract, and provide a description of the services, goods, or other property to be provided under the contract.				
	19-009 Tires				
_				Nature of interest	
4	Name of Interested Party City, State, Country (place of busi		business)		
				Controlling	Intermediary
L	ppez, Rick	San Antonio, TX United States			Х
				_	
				+	
					:
_				-	
				1	
	and the second s				
	Check only if there is NO Interested Party.				
6	UNSWORN DECLARATION				
	My name is	, and my date of			
	My address is		_,		
	(street)	(city)	(state)	(zip code)	(country)
	I declare under penalty of perjury that the foregoing is true and correct	ct.			
	Executed inCount	ty, State of, c	on the	_day of	, 20
				(month)	(year)
		Signature of authorized agent	of contracti	na husiness entity	
		Declarant		ng business citilly	